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ECONOMICS |
Paper-1I : Indian Economic Thought

(v~ snftie )

Time Allowed : 1hree Hours Maximum marks : 100
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(i)
@v)
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(vi)

(vii)

(viii)
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Part-A (Sve—3)
Write the name of two sources of Ancient Indian Economic Thinker.
i IRG ¥ A @ <1 Sl @ 1 fafed |
What are four purusarthas? TR TN SF-PH X §7?

What do your mean by "Economic Drain Theory'? Who propounded
it? snfdfes RN B @RI 9T §7 9€ f6ud gR1 @ 7 &7

Point out any two characteristics of Kautilya's Arthshastra.
DT A srderey Y g A I D Adwa g |
What is "Economic Nationalism"? ** if¥a regare” o491 87
Who was the founder of "Servants of Indian Society"?
“ R AID GNP IS D A?
What is the concept of "Neo-Humanism" according to M.N. Roy?
TH U9 XA ) Tq-HFEdT 6 TR0 41 87
What is the object of Gramdan? UH-<H & 4T Se¢d §7
Write the name of two books of Gandhiji.
TN &1 < gl @ T fafkad |
‘Write the name of two books of Pt. Nehru.
4. s B A TR @ 99 fafag )
Part-B (Gve-4q)
What are the basic assumptions of Ancient Economic Though?
WA e e Y ey R o €7
Give the definition of economics according to the Shukra and
Kautilya.
Y T DT B ITAR AR BT IR AR |
Write the economic ideas of Gokhale on "Swadeshi".

rg2e O} TEd & P AR P Rl | o
Throw light on views given by Mahatma Gandhi on decentralisation.

ﬁﬁmﬂwmﬁﬁmﬁmﬁwmaﬁﬁl
Write a short note on Bhoodan, & ¥ Jiféra feodir ey |
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Discuss the economic ideas of Manu on consumption, production,
exchange, distribution and public finance. 73 @ SYHFT, IUIEH,
fAfyTg: AT Td Iord ) e RERT @ rem i |

Or
Describe in brief the major sources of ancient Indian economic

thought. http:/www.rtuonline.com .
o ARA e R @ v Skl &1 A e Qi |
| UNIT-D(Eoré-1) s |
Write an essay on the economic ideas of Swami Dayanand Saraswatl.
) T A @ e Rl R v (e el |
Or
Discuss the economic ideas of Mahadev Govind Ranade.

e MR R & e Rt $ RyeEr S|

UNIT-IN (§%7$—10)
Explain the importnat economic ideas of Prof. J.K. Mehta.

oy, o1 . e @ Hgwayol ¥ RERt @ wwea: FREd |
' Or

' ic socialism.
Discuss Jawaharlal Nehru's concept of democractic socl
Wwﬁﬁﬁ%ﬁmﬁaﬁmaﬁmmaﬁmm@
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ECONOMITS
Paper-11 : Indian Economic Thought

Time A]]owed Three Hours Maximum marks : 100

N

o
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fa—

wue—3 ( 3fard)
Explain: GHART:
Write down the poverty measurement formula of Prof. Amartya Sen.
1. 3mcd ¥ 1 Tdean \mg <51 47 fafag)
What is the object of Gramdan? THEH ¥ R 3TI & 2
Write the name of two books of Gandhi ji.
e <t = 3 g % W e
Point out any two remedies to remove economic disparity to Dr.
Ram Manohar Lohiya. €. 79 #-iet sifean gri snfdfes e g &
¥ T FE A 39 TR |
What are four Purusarthas? ¥R Jo91d -9 4 & ?
Who give the principle of Trusteeship and why?
it fagia forem i iR i 2 1
Code of conduct for spending. =99 &t STER-Hf&aT)
Write the names of two books of Swami Dayanand Saraswati.

it T T # Q) g % 7 e
Economic democracy according to Pt. Deen Dayal Upadhyaya.
GiEa <Heara SUer & SR i dreha A |
Economic drain according to Gopal Krishan Gokhale.
M w TrEe % AR st Fret |

Part-B (Compulsary)

ue-g ( 3fard )

Describe the basis of Ancient Indian Thought.
WS YRaAtg nfis T & sTur SOz
Write the economic ideas of Gokhale on 'Swadeshi’.
‘TR’ e ¥ snfiw faard < fafau)
Briefly discuss Kautilya's main economic ideas.

Sifeca &y anfde faarl #i 989§ 5= Fifag)
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14.

15.

16.

17.

e
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Analyse the:.fiew of Prof. R.C. Dutt on Poverty and Public Finance.
0. s, =7 gr Frdan v et fag W faan # favaew

FifeQ |
Co-operative socialism. TEFRI GG |
Part-C (Gve—)
Unit-I( 3%1E-1)

Describe the nature, origin and kinds of human wants.
AT SRRl @t WEid, S7fa T THRI 61 0 S )
Or
Explain the following assumptions of Ancient Indian Economic
Thought: ‘
(i) Dharma based economic structure
(ii) Integrated rationality (iii) Integral man
et yRdt snfdes feam 6t fre wrgareil <) saren s
) e enenfta enfYes S=
(i) a9y Tt (i) THRH HFE
Unit-II( 3&13-11)
Discuss the economic ideas of Manu on Consumption, Production,
Exchange, Distribution and Public Finance. 77 % 39, 31,
fafa, fror @@ T W anfile faarl #t fad=m #ifong)
Or

Explain the main economic ideas-of Dadabhai Naoriji.
TRINE AT &% yHE i faemd = vk $ifem
Unit-ITT ( FHE-T )

Explain the important economic ideas of Prof. J.K. Mehta.
W. .35, Az & wewqy sl frerd # wna: wEEET)
Or

Discuss the economic ideas of Ram Manohar Lohiya.

T AR i & anfies feramdl ) fed=rmn Hifore)
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ECONOMIC
Papen- II (Indian Economics Thou ht)
Time allowed: 'IlEree hours um Marks : 100
Part-A
1. Explain : G998 : -

(i) Restrained Consumption Wafa ST
(ii) Integral Man V&I W4 |
(iii) Four Purusarthas gosref ageey |
(iv) Integrated Happiness 9% & |
(v) Ideas of Kautilya on debt and interest.
D B T VT N W) AR |
(vi) What is Bhoodan? Who propounded it?
-3 T §7 Y§ ATIRON frery & 7
(vit) Write names of two books of Pt. D. D. Upadhyay.
Gf¥a SFgaeT SUrea Y < T @ T Rifay |
(viii) Write down poverty measurement formula of Amartya Sen.

ol A @t el A @ < R |

(ix) Meaning of Wantlessness. 3Tavadar fREwar o1 374 |
(x) Economics of Khadi. &I &7 e |
Part-B
2. (i) Discuss the scope of Economics according to Shukra.

% B ATUR YR D & A g AR | _
(ii) Explain the importance of animal husbandry according to Swami
Dayanand Saraswati,
W T AR & SR GYITer @ Hed 3 fdm i |
(iii) Discuss the following ideas of Dr. R. M. Lohia:
M AR lfedn @ =1 fari 6 fdee $IR
(i) Regarding distribution of national income
N A @ faaRor TR
(i1) Agricultural development and food policy
P e v9 |rr= A -
(iv) Explain the meaning and importance of wealth and code of conduct
for earning according to ancient Indian economic thinkers.

U ARG RS el 3 IR 99 &1 3 vF Aed a9 &A1
P A™AR AR o1 v SRR |

WO duI[uon}I MM //:dyy
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"(v) Discuss the main economic ideas of M. G. Ranade.

TERe M= R B WE e RaRl & g DR |
Part-C
Unit-1

Discuss major sources of ancient Indian economic thinkers.

Wmﬁmﬁm%m@aﬁﬁﬁmmﬁt

Describe the nature, origin and kinds of human wants.

AT AT &GP, IART U1 BRI B 3o HRR |
Unit-II

Discuss the economic ideas of Manu on consumption, production,

exchanges, distribution and public finance.

g & I, mﬁﬁw Wwwwmﬁaﬁmﬂaﬁ_
fadaen Hf | o

Explain economic ideas of Gopal Krishna Gokhale on poverty,
Economic Drain, Public Finance and foreign trade policy.

<hrrer ot “Irw @ e, S P, Ao R v R

2R M T afitie R #1 qofw DA |
Unit-IIT
Discuss the ideasof M. N.Royonpoverty, unemploymentagncukure dnd industry.
. v, W @ Fea, R—em, wﬁwaﬁtﬂw—é‘rﬁmﬁaﬁ

A= I
Or

Explain main economic ideas of J. L. Nehru.

. T e D YYG I RERT 7 70 MR |
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Note:

Department of Economics
B.A. Hons Part-1
Paper - Indian Economy

Consider English version as a correct one.

Very short answer type questions

Explain the following

1.

2
3
4
5.
6
7
8
9

Underdeveloped economy

. Poverty
. Foreign trade policy
. Industrial policy

Disguised unemployment

. Economic planning

. Trade union

. Economic drain

. Human Development Index
10.
11.
12.
13.
14,
15.
16.
17.
18.
19.
20.
21.
22.
23.

Privatization

Subsidy

Foreign direct investment
Unemployment

public sector enterprises
Liberalization
Agriculture credit

foreign capital

Inequality in India
Globalization
Public Distribution system
Minimum support price
Agriculture Marketing
HYV Seeds



24.
25.

Disinvestment
Write name of any two family welfare program.

98d U SR UPR & UY

fFafaRad ot sare &

© N Ok DdPRE

9.

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.

Sffaefid sifeaawiy
CIREG]]

facer somaR ifd
3enfie i

U5d SRISHIRI
e e
AUR 99

. 3T ATeit

qHd fdbr It
ERIEZUI
gfeget
el faa=it fHawr
ERISHIR]
Ao &5 & I
JGRIBRUT
DIV BT
facxlt 4=
HRA H 3 GHHd]
it
B ICNIEE AT RN
TAaH JHdH g
Py faguE




23.  HYVdN
24.  fafaw
25. @iz Ut S URIR el HrisH ford |

Short answer type question
1. Write any four problems of small industries.

Write any four arguments against new economic policy.

Write a short note on the components of infrastructure.

Explain conventional and nonconventional sources of energy.

Write a short note on land reforms.

Explain the forest resources in India.

Explain the major poverty alleviation programme.

Write a short note on the green revolution in India.

What is the new trade policy of India?

10. Describe the colonial exploitation of India.

11. Give suggestions for export promotion in India.

12. Explain the concept of cropping pattern.

13. Explain the new national Population Policy.

14. Explain the relationship between globalization and Indian
economy.

15. Explain the role of foreign investment and foreign
technology in development.

16. Explain the Agriculture price policy.

© 0N O WN

17. give a detail about capital formation in Indian agriculture.

18. Explain the importance of green revolution in Indian
agriculture.

19. What are the problems of high population growth growth
rate?

20. What is microfinance.

21. Write a note on disinvestment of public sector enterprises.

22. what is the role of FDI in agriculture sector?



23. explain the land reforms since 1991.
24. what is recent industrial policy?
25. State the condition of power resources in India.

g 3R UHR Uy

Bl AN B Pig H IR A faRau|

T3 3 i & faams &1 Wt IR 9 fofkau|

gfardl gid & gedh] IR Teh BT Ale ford|

ol & URUNSG 3R TR-URUNG Hid! P URSAT BN |

Y YR R T Hféred e ford |

YR H 99 J91YH] 1 arRa] I

RIS S HAHHl & IR H Jamd|

HRd H gd Hifd R e e Fie ford |

HRd P s TTUR —if 371 82

10. HRd & 3Mufafres 2Mwor &1 gufe &9 |

11. YRd ¥ Fafd tiaea & faw ggma 2

12.  SHIUT Ued Pt TYRUT B AR

13. % YT SEAT i 1 oHreHT B

14. IR0 3R HRATT rfouawy1 & & JaY T WY B |
15. oo # faczh fFaw ok fag=ht tenfire! &t Yfitsr Wy &1
16. Y eI ifd I ARAT DI |

17. HRdE $Y H Yol A0 & aR § IR 9 STHeR! ¢
18.  URdG HiY U gRd hifd & Hgd ol ga=U|

19. O IR g R DI THWTY F1 62

20. HEHIBEY gl

21.  OoiH® &9 & ITH & (GG TR TH Ale ol |

22. PN &A T FDI B T YHPT g2

23. 1991 T YW GURT B! IRAT D1 |

© 0N Ok wDdPRE




24. g8l H MM N r 82
25. HRd H faorelt dareHr o fRufa gang|

Long answer type questions
1. Comment upon demographic development in India since
Independence and discuss various indicators of human resource
development.
2. Explain the basic features of Indian economy as an
underdeveloped economy.
Write a short note on main import and export items in India.
Discuss the causes of poverty in India. give suitable suggestions
to solve this problem.
What are the main features of economic planning?
Explain the reasons that led economic reforms in 1991.
Discuss the achievement and failure of planning in India.
Explain the role and pattern of industrialization in Indian
economy.
9. Explain the various institutional sources of agricultural credit in
India. Discuss problems faced by farmers in getting finance.

B W

© N O O

10. Critically discuss the FDI policy in India.

11. What are multinational corporations? Critically examine the
role of Multinational corporations in Indian economy.

12. Describe the family welfare programme in India.

13. What are the main Characteristics of population? Explain
critically the population policy of the Government of India.

14. Evaluation the institutional and technological changes that

have taken place in the last twenty years in the agriculture sector.



15. Define Land reforms in Indian Economy and its Progress in
the last two decades.

16. Define importance of Agricultural economics in Indian
Economics. Give its important implications.
17. What is the role and importance of agriculture in Indian

economy discuss the status of capital formation in Indian
agriculture?

18. Explain the role and importance of MSMEs in India.

19. Explain the growth Trends and structural transformation of
national income during plan period.

20. explain the linkage between agriculture and other sector of
the economy.

21. what are the sources of institutional credit for agriculture?

22. Explain the industrial policy in pre and post liberalization
period.

23. describe the growth Trends and review of industrial growth
under planning.

24. explain the policy Trend and impact of FDI in Indian
economy.

25. Write a short note on following

1). privatization and economic reforms

2). Labour relations And Labour policy

dd SR PR & UY
1. WdFdT & 9l ¥ YR & SRS 1T ™ tR fewoft 3k AFg
Tare faerg & fafire Hohd! TR =af B |




2. JOHRIT HIRT & ®U T HRAFG rfcaaRy &1 gHard!
ICELGIEIEIREEIRY

3. HRd ¥ g7 Mg iR fFafd aegsii &R ue dféna Fie ford|

4. YRA ¥ TRIe & HRUT R TG B | SH GHT DI §d B b [oQ
UG g1d ¢ |

5. 3fife P & g faRans o 82

6. 1991 H 31w JURT BT g B dTcl HRU ! RS PR |

7. HURA U TioHT &1 IUaisd iR fawadl &R gaf &1

8

9

. HRAH gy H SRRl &t YHHT 3R Ue & gHsu|
. YR H $fY B0 & e TRmTd Hidl &1 aret s | foaHl &t
ot T = 31T ATt SHwrsel WR Il de |

10. YR H THaI3MTs Aifd &t TR == ®1|

11, Sgsh e @ g2 URAR sidferaw # sgRigh et ot
it 3t TR © 0§ S B
12. YRd U URAOR Hearo HRIGH! &I JuH B

13.  SFOSAT & T AU 1 82 THR U ¥ HRd IWHR Bi
STEReT Hifd i HRSAT DY |

14. PN a7 ¥ Usd 99 auf § YRITTT 3R dh-id! uRad- &1
i |

15. HRAW rfogaRy & Yy guUR 3R Usd ol <! # S9!
PUIGH




16. YR SURIRE # S IuRa & U@ &I GRHINT H|
S Heg@yul Higard ¢ |

17. YR fouaer # HfN B} yfiyer 3k Hed @1 8, YR
Sy H golt fmfor ot fRufay = == aa B

18.  YRd U TAUHEAS & YHHT 3R Hed &I 9H|

19.  JioMT @AY & GRE AP M & 9P & IIH R
RTATHS TRacH o1 AT B |

20. BV SR AR & 3T &F & oid AaY P AR Pr |

21. PN & U TITTT B & Hid A1 g |

22,  JERIHRU & Ud 3R 918 Bt 3afd H e Hifd &t e
Gy

23, BT & g 3R IS & dgd 3N f[Jwrg ot gHten
&1 JUH B

24.  HRAHW rfouawyt § Twales &1 Hifd BT Ughy 3R gHd Bt
ST B |

25.  fAgfeiRad iR e Bier dfgna e ford
1) | foieur 3R s gur

2| ) ey 3R o5 Hifa




Department of Economics
B.A. Hons Part 1

Paper - History of Economic Thought

Very short answer type questions

1. What is the theory of surplus value?

2. Give any two characteristics of mercantilism.

3. Define physiocracy.

4. What is the consumer surplus?

5. Define foreign trade.

6. What is invisible hand doctrine?

7. Name four features of Marxism.

8. What is the Drain Theory of Dadabhai Naoroji ?

9. Write the thoughts of Kautilya on the welfare state.
10. Define Marginalism.

11. National School.

12.Write any two books of Pandit Nehru.

13. What is the object of Gram dan?

14.What is the theory of decentralization?

15. What is the concept of division of labor?

16. What are internal economies?

17. Who was the founder of “Servant of Indian society”?
18. What is Economic Socialism?

19. What is integrated humanity.

20. give the theory of economic evaluation by Marshall.
21. give any two characteristics of mercantilism.

22. what was the base of wealth and power according to mercantilism.
23. explain the meaning of marginal land according to Ricardo.
24. What is the theory of surplus value?

25. Explain the theory of consumer surplus.

98d U W UPR & UY



SRRy Yo 7 Rygiad T 872
AMURIAIG ! ®ig &l fa=IdTg ¢ |

IRING Ahdd Bl TRUTNT B
JUHTT IR T 82

fge=ft IR &1 gRyIid &L

. 3EY g1y Rigid | 82

ATedare ot IR fagvaraf &1 9F 9digu|

. TIGTHTE RIS T S @R 1 37

. HABRT AR IR Hifecd & foar forkau|
10. BTRIT &) gRYIRT w3 |

11. =M R |

12.Gf&d 8= &1 dig U &l T [Aiag|

13. MG HT I AT 3|

14 faF i &1 fRigid | 82

15. 31 fAUTSH &1 SITYRUT T 87

16. 3MTdR® 3rfcaa®ITy o1 87

17. "HRAN U & g™ & GRITIS HIF U?
18. 3 THTSIATE T 82

19. Uh1pd HFadl 1 82

20. AIRIA gRT 3Tifes Heid o1 Rigid < |

21. ARIAIE &1 HIg &l fadg ¢ |

22. TR & AR 8 37R o BT YR FT AT
23. RSl o SR Wi YfH &1 37 wHemy|
24. SR Yog o1 RIGid 1 82

25. IUHIFT AR o Ry ol RS R |
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Short answer type question



Explain price determination according to Marshall.

Write a short note on Adam Smith's contribution to economic thoughts.
Explain Ricardian theory of profit.

Was Sismondi socialist? Explain.

Explain Sarvodaya thoughts of Gandhiji.

Explain Dadabhai Naoroji thoughts on Railways.

Give the theory of economic evolution by Friedrich List.

Explain the theory of gluts.

Explain the difference between market price and natural price by Adam
Smith.

10. Compare the ideas of Malthus and Ricardo.

11. Compare the ideas of Malthus and Keynes.

12. Explain the theory of distribution by Ricardo.

13. Explain the philosophy of Marx.

14. Write down the critical appraisal of Marxian philosophy.

15. Explain the concept of Quasi rent.

16. Explain the Sarvodaya plan of Gandbhiji.

17. Explain the features of Utopian socialism.

18. Give a detail about Owen’s Social Experiment.

19. Define law of demand.

20. Explain Ricardian theory of profit.

21. Explain the concept of utility.

22. Explain the factors affecting Malthus theory.

23. Briefly discuss the social Economic background of the rise of physiocracy.
24. Explain the say's law.

25. Explain the Mill's view on the role of state.

©CoOoNo O~ WD E

Y SR UPR Y

1. AR & TR Jed MR &t e &1

2. 3 foaRl A TeH 7Y & anTe™ R Ue dfdng fewoft ford |
3. oY &1 Rap1feaq Rigid Wy Sifow|
4
5

. g1 RSt gaTeTardt 92 & §R H 9ard|
. Tiefiolt & Jatey foaRT B s HIFTT|



6. GIGIHTS AIRIST = YaId o aR H §am|

7. IR fore gR1 onfdfes fab o1 Rigid €

8. TICH & Rigid &1 ARSI D1 |

9. TSH Y gRI IR o4 3R Whided Jed & s 3Rk WP B |
10. HIIN 3R Rpref & faaR| &1 ga1 s |

11. AT 3R &1 & [GaR] & ga-1 Hr |

12. RP18f GRT fadRur & Rl &1 sare S|

13. AT o GRI & RS HITo|

14. HIRIATE! G & SMTArATHS Hedidh $I AR |

15. B! fhRTU DI STURTN BT GV

16. TS @1 Gdied AT B RAT BIfoTT|

17. IO GHISTATG i fARISdTY SISy |

18. 3f1dT o ATHINSID TANT & aR H f[adR I STHeRI ¢ |

19. T &b BT DI TRUTIT B

20. A D1 Rep1iSa Rigid wy sifor

21. SUGIAAT B SAYRUN B GHIART|

22. AT RAGId &1 gHTidd 3 aTel HRDI D1 ARSAT B |

23. J&T T RIS Abdds & I¢d B Ao AT gEYH R 7] H1|
24. HgA D1 99 WY HiforT|

25 3159 B YHHT R i & DD bl WY B |

Long answer type question

1. Explain the Malthusian theory of overproduction.

2. write down the difference between mercantilism and physiocracy.

3. critically examine the Ricardian theory of distribution and international trade.
4. Critically examine Karl Marx theory of economic development.

5. Explain the important ideas of robot Owen.

6. Explain the economic thoughts of J. S. Mill.



7. Write an essay on the contribution of Mahatma Gandhi to economic thought.

8. Explain the economic thoughts of Dadabhai Nauroji.

9. Explain the theory of population by T R Malthus.

10. Explain the theory of rent by David Ricardo and the more generalized concept
of rent as it appears in modern economics.

11.Explain the efforts of Karl Marx at scientific socialism.

12. Explain the economic ideas of J K Mehta.

13.Explain the theory of capital accumulation and crisis by Karl Marx.

14.Give a detail about German historical School.

15. Explain the economic ideas of Deendayal Upadhyay.

16.Discuss briefly the ideas of Adam Smith Naturalism and Optimism.

17.Discuss the factors which influence the economic ideas of J. S Mill.

18.Describe Marxism socialism. In what sense is it called scientific?

19.Compare the economic ideas of Mahatma Gandhi with the doctrine of
communism.

20.Explain the Marxian model of economic development with critical evaluation.

21. Describe the economic ideas of Marshall.

22. explain the main features of Indian economic thought.

23. examine critically the principle of Gandhian School of economic thought.

24.Discuss the social economic background of the rise of physiocracy.

25.“The analysis of the circulation of the net product between the different
classes of society from the most spectacular part of physiocrats’ doctrine”.
Explain.

Wd IR UPR BT UY

. SRS AR o AR Rigid &1 sare &1 |

2. URIATG R Wfdedrg & st & 3faR ! fafeu|

3. TR ¥U Y fIaR0r 3R SIRRIPI HAMUR & Aghifea Riid o1 St
Gy

. 3T fasm & HTdt AT Rigid 3t AT S &0 4 Sid B |

. EIE 3iaq & Agdqul [daR| & ReT He |

. Sy o 31es ARl &t sare w1 | i |

|

o 01 b~



7. 3 faaR gere it & TrTe™ W U ey ford|

8. GIGIHTS ARIST & AT faaRT &1 aamedt HIfoTg |

9. IR HTIY gRT SIHREAT & Riegid B ARSI e |

10. 3fas b1l gRT fpvTT & Ry 3R sy srefwma # faars 24 o
fhRTT 1 AP d YR &l Y B |

11,99 FHTSIATG H HTel AR o TITH! B SRe B |

12. S Hgdl o 311 Rl &1 sare S|

13,7 HIHY gRT YT ¥9g 3R Gave & Rigid o IR 3 |

14,574 UfgTRI® ¥od & aR H faaR 3§ STHHRI €|

15. ST SUTEH o 31T [qaR] &1 saRe BT

16.USH 7Y U iarg 3R RImale & fGari W d&g & 7= $1 |

17,37 HRS| W 991 ®x ol of | T | Fd & 3 foarl &1 guifad #d §

18 . HIGIATG! JHTSIATG 1 9uiH & | 39 fohd oref & a1 &gt SiTeT 82

19.TIATG o RIGId o A1 TRTeT Tieh o 31 s faari & gan e |

20. ATIAESD e b 1Y TS f[Ahr & ATRIAIG] Aled B ARl
DIt

21. A=A o 3N1fes faaR] &1 aui= H |

22. YR 3Tfdfep faaR &1 g fa=ivdrsii & aare &1 |

23. 3N faaR & Tidfiard T@a & Rigid &1 7R =0 9 g s

24 IHATATG & 3G DI ATAINIS 3IH EHH W =i B |

25" forIhed o RIGId & Ty YUFER TR I JA & fafia ol & s
G IS & YIR BT fdRAT0r | &b IR H Fd|
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Department of Economics

Micro Economics, (B.A. Hons. Part 1)

Very Short Questions

1) Distinguish between positive and normative economics
2) State any two uses of the study of microeconomics
3) Give the meaning of production function

4) Distinguish between cardinal and ordinal utility

5) What is an indifference map?

6) Distinguish between increase and extension of demand.
7) What is opportunity cost?

8) Differentiate between a firm and industry.

9) Given the meaning of selling costs

10) Define quasi rent.

11) Mention any two features of Oligopoly.

12. Define a budget line.

13. Define cross elasticity.

14. Define Substitutes goods.

15. Define complementary goods.

16. Write four factor of production.

17. Give the meaning of the term equilibrium.

18. Define Liquidity Trap.

19. Define Isoquant.

20. Define price discrimination.



Short Answer Questions
1. Graphically explain the economy’s production possibility curve in terms of economic growth.
2. Explain various types of price elasticity of demand with the help of diagrams.
3. Describe the two conditions necessary for attaining equilibrium for a firm in the short run.
4. Discuss the conditions of price discrimination under monopoly.
5. Explain the risk theory of profit.
6. What are the diseconomies of scale? Explain with illustrations.
7. Explain the implications of freedom of entry and exit of firms under perfect competition.
8. Explain why an indifference curve is convex to the origin?
9. Explain the condition of equilibrium of a firm based on marginal cost and marginal revenue.

10. Distinguish between an inferior good and a normal good. Is a good which is inferior for one
consumer also inferior for all the consumers? Explain.

11. Differentiate between law of demand and price elasticity of demand.

12. Why is the number of firms small in an oligopoly market? Explain.

11. What is income elasticity of demand? How do we measure it?

12. Explain excess capacity under monopolistic market.

13. Explain the theory of diminishing marginal return.

14. Prove that ep= AR/AR-MR

15. Explain the relationship between short run average cost and marginal cost.

16. Write main characteristics of monopolistic competition.

Long Answer Questions:

1. Explain the difference between statics and comparative statics. Provide examples of these
two types of analysis from microeconomics.



2. Explain the concept of income effect. Substitution effect and price effect with the help of
indifference curve.

3. Compare and contrast the marginal utility approach with the indifference curve approach in
understanding consumer behavior.

4. State and explain with suitable diagrams the law of demand. What are the reasons for the
downward slope of the demand?

5. How does the producer attain equilibrium under the iso-quant approach?

6. Discuss the role of time element in the determination of price and output under perfect
competition with the help suitable diagrams.

7. Explain the liquidity preference theory of Interest.

8. State the conditions of consumer’s equilibrium in the Indifference Curve Analysis and explain
the rationale behind these conditions.

9. Explain the concept of price elasticity of demand and examine the various method s of its
measurement.

10. Explain critically marginal productivity theory of distribution.

11. How is the price of a factor determined when there is perfect competition in the perfect market
as well as in factor market?

12. Explain the following

a) consumer Surplus

b) Micro and macro Economics

13. Discuss the modern theory of rent. How it is different from Ricardian theory of rent?

14. Explain the three stages of production. Why is it that third stage of production is considered
most relevant stage for factor use in production?

15. Examine critically Ricardian theory of rent.
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14. OIS & oI IO I AR HIFGTT| THT R § P IATGT & JIIR RN Bl IATeT |
J1e IYTANT & T Ja URifTes TRo1 A1 STy 872
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BA (Hons) part- 2
Economics
Fifth Paper
Macro Economic Theory

Very Short and ShortType Questions(31fc g T

STE[TIIHSD HReT ): -
(1) What is the repo rate?
9T &Y FAT 82
(2) Explain average and marginal propensity to consume.
39T ol 3N IR AT Y T IFTAYT FATST
(3) Explain the main Instrument of monetary policy.
Aifgeh T & g7q@ 36T A T3
(4) What are transfer payments?
BEATCRUT 8T T AT T 87
(5) Whatis a speculatlve motive demand?
Hel T HEeT 3ee T AT AT 87
(6) What do you mean by net banking or online banking?
e SfeRaT 3r2rar TS dfeheT & 39 FIT FHSIA 87
(7) What is macro Paradox?
FATSCITT TAUUTHTH .31 872
(8) What do you understand by demonetisation?
fAFERTOT & 3T AT FHSAA &7
(9) Explain the term NNP at factor cost.
TTEA AT W [ TS 3cUTe FHSST|
(10) What is a liquidity trap?
AT STTel T 872
(11) Define velocity of money.
Hel &l Telel J3T THASTSY]
(12) Explaln the dependent variable and independent variables.
QAT W JUT TqdT T GHASST|
(13) Explain the primary functions of money.



Hel & A Sl S THASIS]
(14) Explain Pigou’s equation of quantity theory of money in cash balance
equation.
Hel o IRATOT fAeErd & 9] FHRI0T o Tohe; AT FHIHIUT T FHSATST| (15)
What is marginal efficiency of capital?
QoiT T TATA a7l F4T 57
(16) Explain high powered money.
3T AT UTeT FGT T THSTST
(17) What is liquidity preference?
AeTdT qHEal T 872
(18) Differentiate between M1 and M3.
M1 2T M3 H 3R 913U
(19) What is the paradox of thrift?
Jad faRrarems 31 g2
(20) Name any 2 new classical macroeconomists.
&l o1 Follflehol AT IYATETAT & TH TA1ST|
(21) What do you understand by SLR?
T Ul 3R & 319 3T THASTA 67
(22) What are the main determinants of components of money supply?
Hel Iicl & Hoeeh & G7E [een ded i @ §72
(23) What are stock and flow variables?
Teien 3R vaTg @R T 872
(24) Explain the meaning of autonomous investment and induced investment.
TR fAaer aor 9Ra fAaer o 313 & JHEEy|
(25) Differentiate between bank rate and rate of interest.
doh &3 TT TS &Y H 3R §d187|
(26) What is say's law of the market?
“Q” T STTR T ITH F7 82
(27) Explain the main difficulties in measurement of National Income.
TSERT 3T I0TAT T T HISATSAT T FHASY
(28) What is an investment multiplier?
[CIGRIEEICETE D Y
(29) Explain the difference between CRR and SLR.
CRR dUT SLR & 3{cX §d18U|
(30) Differentiate between multiplier and accelerator.



I[UTeh JAUT caeh H 3R THSSY
(31) What is Reverse repo rate?
Rad Wrex Farg?
(32) Explain Input - output accounting.
31T 9T ol@TeheT § 31T FIT THSI g
(33) Write down about the function of RBI?
3RET3TS o 1Y FAT g2
(34) What is Stagflation?
IMfeleT THITT T 3T T THSTA 872
(35) What are the instruments of monetary policy?
Aifgeh Nfd & 30T IaTST|
(36) What is expansionary monetary policy?
foraie Aifgs Afa Frg?
(37) What is the role of monetary policy in a developing economy?
faepraeiier 3rdegaear # Hifgeh Afd S ${fHHT sy
(38) Explain types of business cycle.
STIR ThT & TR FIT &7
(39) Name the phases of the business cycle.
SITIR dsh T GTAT3IT & I1H Sd1ST|
(40) Write down the measures to control trade cycle.
SIIR dsh Pl AT el & 3T dd18U|
(41) What are the importance of macro economics?
FATSE 31AET T AT H FIT Aged g2
(42) What are two - sector models?
ar &y Afser T §?
(43) Explain types of money.
Hel o JhR TS|
(44) What is money?
Hel FT 87
(45) Differentiate between money and near money.
el T folehe HaT # R ISy
(46) What is the meaning of value of money?
el o FHod 1 &1 37T g7
(47) What is the similarities between transaction theory and cash balance
theory?




deTee AU auT Fndl QY fAcHid # AT GHTT 872
(48) What is the meaning of money supply?

a1 9 A AR A
(49) Write down the determinants of money supply.

Hel Iid & e dea adrsy|
(50) What is a money multiplier?

Hell I[0Tieh T 87

Essay Type Questions( faaticas 924): -

(1) Discuss the role of monetary policy in promoting economic development
price stability in India during the past two decades.
ITd &1 G2 H HARA & 31T Ak vd HrAd [FeRar i dgrar ¢ & fav
A A 1 sxfre A1 g S
(2) Write short note on the following: -
fArfaf@a w gfgicg feouoh faf@u: -
(@) Quantitative credit control
(b)  Objectives and instruments of fiscal policy

ST AT & 36T Ud I

(3) Explain the following: -
farafaf@d #r gasmsT: -
(a) State 2 assumptions which are the same both in classical and
new-classical macroeconomics.
Y 0T ATIATT SaTSU S foF Fellflehel 9 79 Fellldehel GHTSE 7ATET al=ir
H AT g
(b) Contact Compare the equation of exchange with the Cambridge
equation.
aiter FAHTOT Y el SRt FAHROT & FfAC
(4) Critically examine Fisher’s quantity theory of money.

ftheR o HeT IRATUT e T TelleTcHS cITEdT HIv|




(5) What is money inflation? Distinguish between Demand pull inflation and
cost push inflation.

Herehiie &/ 82 AT YR TR TAT AT IR ThifeT & 3eR Tuse Aoy
(6) Explain the complete classical model of employment and output with the
help of equations and diagrams on what grounds has it been criticised by
Keyens?

VST 3 3cUTee o HYUT HTATSSd HISel Sl HHIIUIT d I@TTHAT ! Hgral &
HAFATSC ﬁmwﬁﬁmﬁsﬂﬁmﬂmﬁm
(7) Explain this “Are saving and investment always equal in Keyens model of
output and employment?”

7 fhd & 3Tt 3R ISR & Alsd & g9 AR fAdr T8a sk g1 82
HAATSC

(8) Discuss various methods of measuring national income.
TSERT 31T bl AT T faffeeT faferat fr faaaar fifav|
(9) Explain the following: -
fAefaf@a #r gasmsT: -
(@)  Fishers quantity theory of money
foheR T HeT TR&ATOT fAeETd
(b)  Different measures to control inflation
HaEHITT 1 AT et & 3017
(10) Explain the doctrine of the multiplier Critically.
T[oTieh fAEET T JTeTdATcHS SREAT ISy
(11) Explain and state Keyen’s psychological law of consumption and bring out
its implication.
oRe & 3T91eT TaEl Ad s RAGHTd Pl GHSST dUT 3H Teifed dcal T
SITEYT HhITIU|
(12) Explain the following: -
eIt ad 1 gHssT: -
(a)Instrument of monetary policy.
Aifeeh T & geg@ 36T AT T3
(b)Functions of commercial banks.
SATITRe Sl o T
(c)Multiple Credit Creation.
gl arg feaor




(13) Explain the classical model of production and employment. On what
grounds Keynes has criticized this theory.

3cITGsT T AT & IR 1) Fgenid i sarear Hifore| fora oF fanet 3memy
W 38 TAeHTd T 3Tl 6 g
(14) Enumerate the main characteristics of underdeveloped economics which
Render keynesian theory of income and employment inapplicable to such
economics

37 [ i srieaaeun3it i F& [AATATST T Sea@ HITSTT e HRoT
fehd T 31T Ta USTIR TG 3eT W) of19] =781 BIctl g
(15) Describe the functions of the central bank in the context of The Reserve
Bank of India.

TR ST S o TG H ho 1T doh oh AT T TAATT Ity
(16) Discuss the Keyne’s psychological law of consumption. Explain the
subjective and objective factors that determine the consumption function.

fhg & 3TN & A AR IH ST AT HITST| 3TIHT FeleT Y Tefaa
XA dTel STTFcleh Ud TEJIT PRI T SATEAT HITSTT
(17) Explain the cash balance approach of the quantity theory of money. In what
respects it is superior to the cash transaction approach given by Fisher?

Hel IRATIT AT & wTeh AT ETSChHIUT i ST HITT| T Tohel TEeI31

W R garT IfauTicd sTehe, AT € oeahIvT ¥ S 8|
(18) What are the objectives of a monetary policy for a developing economy?
Critically examine monetary policy during the last two decades.

U [qeraelier srdegaedn # Alfge Nfd & A1 3¢eT 1A 82 T ST GAHT H
R 1 Afgar Afa Hr 3meaTcHds carear fHifar|
(19) Explain the circular flow of income. Explain the circular flow in Economics
income with the help of the diagram.

31T & TP YaTg T 39 FIT GHSTA g2 Ueh TIITTAT H 3 & IhT Y18
T STET HIfSTT TAT =T 1 g3ter 3t Hifag]
(20) Differentiate between micro and macro economics. Explain the transition
from microeconomics to macroeconomics.

TS 3R gATSe 37T 7 g Hifarv| afSe ey A 3rdmeT 7
HohHUT T SATEAT FHITAT|
(21) Explain the concept of national income and methods of its measurement.

TSEIT 3T T YROMT Ug AT i [ty aHsmsy]|
(22)Explain the following: -




AFATaI T = gHASET: -
(a)Role of accelerator as a theory of investment
caeh &1 foTaer TagUTd & &9 H S
(b) Investment Functions
faer weret

(23) Describe the importance of national income analysis. What are the
problems and limitations of measuring national income analysis?

TS 31T fALRINUT & Agcd ol HSSU| TSEIT 3T o AT H hioATSAT
AT HTITAT T TS|
(24) Explain the nature, scope and limitations of macroeconomics.

FHATSE 3TYATET FT AT 817 FAged 3R AT T carear Hifag|

(25) Explain the main determinants of money supply?

Hel il & Heeeh & YA [ten dedl i GAssY|




BA Hons Part 11

International Economics

Short questions

Mint parity

PPP

WTO

Define Gain from Trade.

Give four features of International trade

Define International trade theory of Haberler’s.
Balance of payment

Adam smith concept on trade

L e N U WD R

What is the custom union

=
e

Define Gain from Trade

[y
[N

. Give four features of International trade.

[E
N

. Give measures of development.

. Mint parity

. PPP

. Give four features of International trade

[ T S T G SY
o A~ W

. Define International trade theory of Haberler’s.

=
~N

. Balance of payment

[E
0o

. What do you mean by foreign direct investment

=
X}

. Adam smith concept on trade

N
o

. What do you mean by International Trade.

N
=

. Free Trade and Protection.

. IMF

. ADB

. WTOs

. What do you understand by free Trade

N N N NN
O B W N

. What do you mean by balance of payment

27. Define International trade

28. Define Exchange Rate
29. Give to gains from International trade

30. Define protection

31. Explain the meaning of inequality of opportunities

32. Explain the meaning of factor intensity

33. What do you mean by JS mill theory

34. Write any two assumptions of Haberler opportunity cost theory



35. Write mean of objectives of WTO

36. International finance

37. Asian dollar market

38. Why bank and developing countries

39. Multinational corporation MNCs

40. International monetary fund

41. TRIMS

42. T RIPS

43. G ATS

44. A oA

45. Define soft loan window of World Bank

46. International finance corporation

47. Discuss the various factor which caused is equilibrium in the balance of payment of a country how can the disc
equilibrium be rectified

48. What is a foreign exchange rate discuss the monetary approach to determine the exchange rate

49. Explain the function of Asian development Bank and role of ADB in India

50. What do you understand by International monetary system

1. fAegHar

10.

11.

12.

13.

14.

15.

16.

17.

18.

. drdidy

. T R H@arae

. AR ¥ o H GRATNT |

. AR YR AT IR JAAYAT &

. e & JAUSET MR fAcuid @ aRenia w3

S ' S

. UsH TTHY MR 9T 3{IUROT
. hECH AT 1 §

SR & o A gRevT A

IRTET AR FHr IR [FAYaw &
faew & 3um dfSv)

fAc gAar

qrdrdy

ARTET SOR AT IR FAVATT &

gIeR & IR MR Reuid & aRenfa &3
ST 1 e

facelt gcer foder @ 39 1 arcad &



19,

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33 .

34.

35.

36 .

37.

38 .

39.

40.

41.

42.

43.

44 .

45.

46.

TsH [EAY MR W {aURom
JIRTSET AR F 3Rl FAT dlead gl
HFd UUR 3R &7

HARTSET Hel I

TETer

Sscgdi3l T

HFd IR § 39 FAT FASA &

$ITCT {-icoloia-l T 3TYRT AT TAYRT §

IRTET AR HF aRATT L

fafasa gx +r aRenfa ¥
JAUSET SR & ol Ired. e

AT F AR

HIEA I IFFAAAT H1 37T TOse AT
FRE dadl & 3T TIST HT

St A euid | 39 a1 AT §
FeReR TR o Rewid A fhedl ar ATt & ford
faRa AT HatoeT & 3egedt & IR H oy
HRTgT faa

TS SR F SR

de 3R fowraefiar g &
SESE AT UATEr
IRTSE Hifgew A

& e

& Rew

St e

Tsh 3T

farg & #r e o &3 #r aRea &
ARG faa e



47. faf¥est SR$T & IR A T A S R 3 F A HJoA A Holdl §, 3Fh Hold HA
FURT ST Hhell &

4g. facel #HoT X 1 § ey X FUiRa aa & v At effeanor @ ==l Y

49. g @ d% & & 3N ARG 7 ape I HfAF & IR FA IdC

50. s Aifgew gomelr & 3T FAT FASIA &

long questions

1. Critically examine the Ricardian comparative advantages theory of International trade. To what extent its

empirical evidences justify its success?

What do you understand by Reciprocal Demand theory? How it is useful in International Trade.

Write short note on Leontief Paradox.

4. What do you mean by Rybeznski Theorem.

5.

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.

24.
25.

Describe the current trade problems of developing countries. What measures have been taken to meet
these problems?

What do you mean by balance of payment? Give their adjustment mechanism also.

Define IMF and give its importance in present scenario.

What do you mean by ADB. Give its importance for developed countries.

What do you understand by free Trade and how it is differ from protection.

What do you understand by Adam smith theory of trade? Give in detail.

Critically evaluate the Adam Smith theory of absolute advantage of international trade

Elaborate the opportunity cost theory of trade

explain the factor price equalization theorem with the appropriate use of diagram

Discuss the partial equilibrium effect of tariff

What is the custom union does the formation of a custom union necessary raise welfare of a country
Discuss the welfare effect of international capital movement on have and lost countries

Explain the purchasing power parity PPP theory of exchange rule determination

Write down the merits and demerits of fixed and flexible exchange rate

Critically evaluate the role of devaluation as an instrument of BOP adjustment

What do you mean by foreign direct investment discuss the various advantage and disadvantage of FDI
what do you understand by International monetary system discuss its current scenario

Critically examine the purchasing power parity theory of exchange rate

Discuss the various factor which caused is equilibrium in the balance of payment of a country how can
the disc equilibrium be rectified

What is a foreign exchange rate discuss the monetary approach to determine the exchange rate
Explain the function of Asian development Bank and role of ADB in India

1. 9RETH IR AR & RefEae Joreicatan oot Rguid 1 Sra & | e 58 o 38 JeTHactea aad
SHT el Sl Hel Sl 82



2. 39 GREIRE ANT FHEUd ORI T HASI §2 Ig AT MR A H@ 39 gl

3. Leontief faUEm W oy e fod|

4. FT AT Rybeznski YAT GaRT HAdAE gl

5. fawraeler geff $r adAe AR FAEST &1 gofe Y| S FATABN A QU A & Qv w39
fhu 9T g2

6. ATl Tclolel @ MUl AT fAWT g2 3eTehl FHRNS o 8 <

7. 3MEUATH & gRENT Y 3R gda= aReed & 391 Agca &l

8. ADB ¥ 39l AT dicad gl Iefad gef & fav s@e #gca qf9w

9. HFd TTUR A Y FAT FAFD § AR Tg FA TEIT § 37T g

10. UsA ffAT O9R & fAcyid ¥ AT &1 FFASA g2 [9€aR & &

11. 3RTSET AR & qUT o & v vsH EAy feuid & i &0 & Hediad &

12. SANR & a8 onrd ffeuid @ faegd

13. 3NW & 3T 39NN & Y FRE Hed A THY S AT

14. SN® & A% HJelel FoTd T ==l Y

15. A1 § HECH (A [Fdl 3 & FECHA AT & [T HTaTSh FHedoT & TS Tl &
16. FRUSET Yol 3falelel & FHoAhRT JHIG W = @1 3R gef & @ fear

17. RfAwy e @uRor & w7 afed g@adr dhd Reuid #r sarear &

18. fAfREa 3R oo Rfesa & & gleat AR 39 @ e

19. BOP ARSI & UH HUA & & H IGHcTd HI HAG & FArddcAs Hedided Y
20. fagelr goger fAder @ 9T FAT A § THIINS & AT amsil 3R Feharel R ==l
21. 39 IRTET AfgEw Jomel ¥ FAT AT &, 3TF JdAT IRET W T ad &

22. fafwg & &1 #T afdd FATT euid & MR &7 § S

23. Taffes FREA W T2 F S Rl G F SETAA F HoeT H HAH o, [SFF Aol Y FUNT
ST Hehl &

24. fagel #HoT X FT § RfeAw X FURT = & v Alfts e w =

25. RIS femE dF & S 3 9Ra # Ape & HfAS & IR FH aw
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ECONOMICS

Paper-II (B) : Application of Mathematics to Economics

Time Allowed : Three Hours Maximum marks : 100
Part-A (Compulsary)
1. Explain the meaning of the following :
e o1 srel e - -
(i) Budget line. qAe G
(i) Elasticity of substitution. g & IR
(i)  Constant sum game. ReRr am @&
(iv) Producer's surplus. SRS &) I
) Production function. TGP B
(vi)  Zerosum game. I A A
(vii)  Mixed strategy. 3 Jordfa
(viil) = _ Trade cycle. AUNR b
(1x) Multiplier. o1
(%) Final demand. - Jifraw i |
Part-B (411-3)

2

(a) Define the price elasticity of demand. If the price elasticity of demand
is 2.75, interpret it. . '

T B B @ B AR SR 1 Al Wi 6 B de e o
75 B & T9D fAga PR
(b) It supply function P=2X + 1 and X = 3, find producer’s surplus.
afd qfd Ber P=2X + | T4 X = 3 2 3 S o awa s S |
(¢) Ifthe utility function U = X x? and budget equation : y = PX, +
P X, find the simple demand function for X,
X A B U = X7X3 AR IS WhaRO y =P X +PX,, &
& X, B HIERY {1 B T Do |
(d) For given Cobb Douglas production Q =L°% K¢ Where L is labour
and K is captal. Verify Eular’s theorem.
Pa ST SR BT AT F; B Q = Lo K% 7z L 2wy v K
IOl ¥ 1 smaer v fig P
(¢) What are the assumptions of input-output mode]?
INST-UST HISS BT W o B2
Part-C (WP1-)
Unit-1 (GFE-1)

Find optimum commodity purchases given the utility function as U
=@, ¢, and the budget constraint as q, + 4q, = 10.

% ST BT U = ¢, o, Te1 aoie 9Ra= q, + g, = 10 R &
A TG B A U AR I AR |

http://www.rtuonline.com
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OR
For a linear homogenous production :

U T GHEY S8
[ZHab—AbE-Bbi]
x=

(a+l)b

http://www.rtuonline.com

Show the average and marginal products of the factors depend only

on the ratio of factors.

o Rig PIRA 5 Tl & sl 7 W Seare el @ SIguE

AR ¥
. Unit-T1 (3o1E-11)
Solve the following L.P.P. :
=1 =&y wnfii s AR
Maximise Z=..xl+5x=+?x3
3ferHan '
Subject to 3X, +2x,+ 4x,< 100
qufdge X, +4x,+2x, < 100
X, +X,+3x, <100
and vq X, X,.X, > 100
Solve the following game :
=1 Qe 31 7 Hfow
-2 0 o 5 3
_i4 2 1 2 5
AH---; 3 0 3 6
(s 1 -5 .2 .6
Unit- 11T (F5rE-111)
If (1-A)"isgiven as below :
afe (1-A)' &
(1.17 001 006 0.28]
0.06 1.02 006 0.02
0.16 0.23 .14 0.10
031 006 029 133
And final demand
AR A~ =i
177
10
d=
5
- 20 ]
Find the quality of products.
A A1 IR B AT SO B |

http://www.rtuonline.com
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OR
Explain the following concepts :

(i) Importance of Input-output analysis in Economic Plannmg
(i1) Components of value added
(iii) Investment requirements

(1v) Closed Leontief model.

frfafea srarmel B s HRRA

(i) i smaor ¥ -t fveo @1 ae@
(i) X affa & s@ae

(iti) fafranT smavasand

(iv) T< forafew Hisa |

http://www.rtuonline.com
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ECONOMICS
Paper-1I (B) : Application of Mathematics to Economics
Time Allowed : Three Hours Maximum marks : 100
Part-A (Compulsary)
L Marginal utility. ¥ ST
2. Consumer's Suplus. SYHERIT 6 g9d |
3. Production Function. S&1E Hel |
4. Producer’s Surplus. STET&a1 6 994 |
J. Accelerator. @3 |
6. Zero Sum Game. I A7 & |
7. Pay-off Matrix. = #fgaa |
8. Investment. faf T |
9. Father of Input-Output Analysis. &3 & S |
10. Elasticity of Demand. AT & &l |
‘ Part-B (Compulsory)
11. If the demand function is x = 25 - 4p + p*and p =3, then calculate e .
SR W B x =25 - 4p+ p? EAR p=8 Ve T AR
12. What is Euler's theorem? 3R &t figra Far87?
13. ‘What is CES production function? CES SIS B 41 7
14. Find degree of Homogenecity in equation :
7 = 8x> + 2x%y - xy?- 4y’
£y FRHRoT § wEegal B e faer) -
— 3 - 2.4 3
15. %a; i?;aglxg of gaye{ Ais glf\rzinmiﬂ;uéﬁ gz‘ty-oft' matrix of
- aver B on the assumption - .
1%%@ Aaﬁ@ﬁﬁﬁﬁﬁﬁ,gﬁ%l!ﬂmaﬁﬁ
AT @ ER W fgerdt B A ‘%‘Tﬂﬁ ﬁﬁaf feifer -
7 -
A = 3 .2 1
1 4 3
Part-C (Compnhtli)ry)
UNIT-I(E%1%—
6. If utility functionis U=0,%, and 3q, + 4q,= 100, then calculate

the optimum quantity of g, and q,.

'ﬂfa' SQQIRTAT Bl U= Ch‘"lz AR 3q, + 4q,= 100 &1, q’aﬂ- %

i |
& argagr A AT

http://www.rtuonline.com
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What is unitary elasticity of substitution? Show that production
function QP=aK® + bL P whichis linerarly homogeneous does not
possess unitary elasticity of substitution between the factor K and L.
YRR &) s g §? Sqed B QP = aK®? + bLP W
TR T E AT Kaar L o 91 yRikenms & 36K A @
TWER 78 B
UNIT-I (o15-11)

Solve graphically : U1 GIRT WHIEH S B

Z=45x + 55y
s.t. gfe== 6x + 4y < 120,

3x 10y < 180

X,y>0

Or
What is Samuelson's Trade Cycle? If the profit function of firmis =
= 40x - x* - 0.5xy - 1.5y*+ 50 y and the maximum production
capacity is X + y = 6 then calculate the optimum quantity of x and y.
1 HIR G5 1 &7 R B4 P19 Bed n = 40x - x° -

0.5xy - 1.5y*+ 50y % 3R 3iftdaq AR @9dl x + y = 6 8, A X
ARy B IgFHET AR AT B |

UNIT-II (s&15-10)
0.2 03 02 20
rrar A =|%40102) iarc=|10] 12then®
0.1 0.3 0.2 12

Calculate : 91 ST DAY :

(i) Quantityof X, X,, X, X, X,, X, S1ARK

(i) Inter-Industry Demand Matrix. < S&rT |FT ARy
Or

What 1s Cobweb Model? Explain the different conditions of
quilibrium in the model.

DI9ag Aiea a1 27 Hiea X R wnarazenaii &1 9vF 2|

Fokdokkkokkkok
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ECONOMIC

Paper - I (b) (Application of Methematics to Economics)
Tme allowed : Three hours asimum Marks:

I1.

12,

13.

14.
15.

=0 PNANR W -

Part-A
Maximization of Utility. SUfrar sifereasavor|
Compensated Demand Punction. SRIgf #iT wer |
Static Multiplier. ¥ U |

Pivoting. fafér| ‘

Rate of Technical Substitution. T Yfeag gv|
Linear Homogeneous. Y&1J WAwY|

Consumer Surplus. SUHERT & g9 |

ZeroSum Game. Y AT G |

Saddle Point solution. ¥eet = & |
Acceleration Coefficient. @& P
Part-B

Determine wether the utilit i i
: y function U =g7q, is regular strictl
quasi concave or not. 04 gl d

FA {5 SR B U = g7, Frafir gt s s an 811
For a given Cobb-Douglas Production function. -
P SRTH IEA e fa gan 3

Q= Lyg Ko

WhereL is Labour and K is capital. Varify Eular's Theorem.,

T8l L 519 T9 K 9l ¥ | e v Rig Hifodr |

Pay-off Matrix Player A is given. Calculate Pay-off Matrix of Player
B on the Assumption of Zero Sum Game :

faend A & gam derw 1 5F ¥ 1 Y A Y W & nER
R Reersy B &1 T Afeaw :

8 10 3
A=]15 4 0
-2 -1 =3

What is CES Production Function? CES SqIGH Hel a1 &7
If demand function in P = 16— x*, supply functions is P=2x+1,
then find out consumer surplus and producer surplus when x=3.
I win B p=16-x, & If B P=2x+1, ¥, T« S
&) 99d T4 AR 6 g9d 6 DR WEfd x =3 ¥l

. Part-C

Unit-I

Determine Price Elasticity of Demand and Marginal Revenue. If

g=30-4p- p* when g is quantity and P is Price’and P =3.

g Wi @ sre vd e amm @1 faive SIvR, of
g=30—4p-p® Sl QWA ¥ P E AU p=3.
Or .

Given the Production function @ = LK™ and price per unit of K
and L Rs. 2 and Rs 4 respectively and cost of Rs. 80. Determine the

" maximum output subject to the cost constrains.

http://www.rtuonline.com
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aﬁwqﬁqﬁmgm% Q=L°’K;”ﬁﬂl K9 L & ufy gord
B T 2 U9 4 T B 41 FA AT 80 0 811 4 58 ArTer

Sfferpas SQET T Pl |
‘ Unit-II
Explain characteristics of Linear Pro ing.
QJH Wi & Remarst o v [ o
What do youmean by Primaland Dual? Convert the following Primal into Dual:
T UF 29 A A T qHHS 7 (e e 9 & &9 § 33RA:

Maximum 3raHeRT : n=6X,+7X,

Subject to Tfea 2X,+3X, <12
2X,+X,<8

and 3R : X,20,X,20

Or
What is Samuelson's Trade Cycle? If the profit function of firm is

;=40x—x"‘—5.xjr—15_1-"+50y and be maximum production
capacity is x + )’ = 6 then calculate the optimumquantity of x and y.
VAT & AUR Ip @ 2? Y BH HT WA BT
n=40x-x" -35xv-15)° +50y ® X sifrpaw ST Ul

X+y=6 8 A y B ITHATH qHAT S B |
Unit-IIT
Find out from the following matrix and final demand: -
=1 e o afsam |57 ) g § ST IR
(2) The output of each sector TAF &= HT I
(b) later-Industry Demand Matrix 3=iR-YarT 417 ARaq

0.2 03 0.2 20
A=104 0.1 02|and C=|10
0.1 03 0.2 12

Or

Write short notes on the following : FfeiRas ox Wit fRwRRT RRa:
(i) Open and Close Input-Output Model. o

Gl U§ % §Yc—-3MMSeye Aise

(i) Static and Dynamic Input-Output Model.

P vd YRf1E $TYc—3Mmeeye Aisa

http://www.rtuonline.com
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B.A./B.Sc. (Part-III) EXAMINATION, 2019
(10+2+3 Pattern) (Three-Year Scheme)
(Common for the Faculties of Arts and Science)

[Also Common with Subsidiary Paper of B.A./ B.Sc. (Hons.) Part-III]
ECONOMICS-II(a)

(Applications of Mathematics in Economics)

Time allowed : Three hours - Maximum marks:100 for Arts
75 for Science

et o Trenelt <ht e SR- R T 4 TR | ava e AT Ry

e ST-gfkaent # € 9 gl o So ford |
T & I e 9 @ yoT 09 Wy TR s fed |
Y- : 3T U A o9 A TR A B 1 IS TeA $ ST 20 UK A S |
G- 2 3G 9T N UTE 99 ¥ | A% T H I 100 T A S |
-4 : 3 9FTH T4 TS W TF T & S < 1§79 Tl | et 59 Suersy
21 oo et 9 991 % ST | 9FT A T 9 B % Gl U & SW A
e ¥ | STl 9 C el o T & IR 1T I b S A R
Part-A/¥FT-31
1.  Explain the following : 10x2=20
 fEfefed B TR 2R |
(1) Conditions for regular strictly quasi concave utility function.
Frafia qoieton st ST wer &1 w4 |
(i) Ordinary demand function.
[IER | B | |
(iii)) Income Elasticity.
I A '
(iv) Income and Leisure
. SR AWM .
(v) -~ Producer’s surplus
IGH i T=9d
(vi) Linearly Homogenzous Production Function.
s gaey SR Wl
(vi) Closed Model
o Hisd |
(viii) Top person consta:rit' sum game

< Ifes fer dm @ |

http://www.uoronline.com

wod aurjuoron: mmm//:dyy



wod aurjuoIon’ mmm//:dny

lad

(ix)

(%)

(1)

(i)

(11)

(iv)

v)

(a)

(b)

http://www .uoronline.com
Hessian determinant

g arfore |
Hawkins-Simon conditions
BIeh~I-EIEHA B! T |
Part-B/9Fi-&
Write equilibrium conditions of perfect competitive firm.
quf gfEntt wH % foe wgem @1 wd fafaa  5x4=20

Write short run cost function for Cobb-Douglas Productions
Function.

FHia S IEH e & [ STeqehiet arma %o fafau |
Show the nature of commodities :

X,=60-3P +2P,and

X,=50-7P, - 10P,

et F) vt

X,=60-3P +2P, =

X,=50-7P - 10P,

Q =log (x* +y%)

2 32
show that Zx?“‘”g?' 0
AR Q =log \/(x? +y?)
. | Q. Q _,
g o o wifsu f® 3x2 oy*

Find the elasticity of substitution for Cobb-Douglas'Production
Functicn.
Fla-STOE ST Her § Fawryd i 9 Siferd |
Part-C/9™M-d

Section-I/@UE1
Show that indifference curve is convex to the origin.  8+12=20
TS f qoe 9% T fag & wfa S=a g g |
Find the optimum commodity purchase for a consumer whose
utility function and budget constraint are :

U= qlu.ifsqzozs and

100 =2g, +0.15q,

http://www.uoronline.com
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(a)

®)

(a)

(b)

http://www .uoronline.com
@mﬁmmw@ﬂaaﬁ@mﬁa—wﬁmwa
EECAIRCE TN E
U= qioffsqzo.zs qd
100 = 2q, + 0.15q,

OR/39Fat
If U=F (x,, x,), then derive Slutsky equation. 20
I U=F (x,, X,), @ﬁwmwmﬁl
Section-1I/@vs-11
Distinguish between CES and Cobb-Douglas prodaction function.

1248=20
3 w9, (CES) 3 Fd e Iq9eT B § S i |
For a monopolist, the demand function is P = (6 — x)* and the
Marginal cost is 14 + x, find the consumer surplus.
TF TFHITE &1 T e P = (6 — ) 9 A A 14 +x, B, A
YRG! HY T4 I BISA |
OR/3Eqq

Derive the profit Maximizing first and second order conditions
for an entrepreneur. Give an economic interpretation of second
order condition in this context. 12+8=20

e et F e ey aferera it waw 9 fgda s =t wdl &1 g

HIf 139 Feol ¥ i w0 Y v & onifiens e =hifsidl |
What are the main properties of Cobb-Dougls production function?

Hie- T e Fe bt e ferdand 7 € 2

Section-ITI/GU=-II
Solve the following iinear programmmg problem with the heip of
simplex method : 20
Maximize : P =25x, + 20x,
Subject to : 6x, + 4x, <60
2x, +3x,< 30
X X, > 0

e Taf 1 Ferql @ T FiHT Tl 61 5 31d it

HiyehaH ®ifvd : P=25x, + 20x,

wfaay ; 6x; +4x,< 60
2x, + 3%, <30
X, xz:_;O

http://www.uoronline.com
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(a)

(b)

http://www .uoronline.com
OR/3Far
If technology matrix A and final demand vector F is given as :

03 05 02 100
A=|02 0 05| |40
0.1 03 0.1 50

(1) Compute gross output for each sector.
(11) Find inter-industry demand matrix.

afg qeftent Bfega A awr sfm A asR F 8 0 1644=20

03 0.5 02 100
A=[02 0 05| . 140
0.1 03 0.1 50
Tl
(i) Felh &3 < fAq wehet Seafss 1 or g it |
(i1) 3TR-32m T Afzew Femfed
The pay-off matrix of playerAis:
784
A=l472

The Find the pay-off matrix of player B if game is two person zero
sum o

faerst A =1 9-31f dfcaw .

784
A=l 72

& 0 flaare-B #1 ¥-3ifw Afzaa 70 S, af < =afe g am
a1

http://www.uoronline.com
Whatsapp @ 9300930012
Send vour old paper & get 10/-
39 g Aud Sy 3R 10 sud O,
Payvtm or Google Pav &
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B.A./B.Sc. (Part-III) EXAMINATION, 2018

(10+2+3 Pattern) (Three-Year Scheme)

(Common for the Faculties of Arts and Science)
[Also Common with Subsidiary Paper of B.A./ B.Sc. (Hons.) Part-111]

- ECONOMICS
Paper-11
Maximum marks:100 for Arts
75 for Science

ET-31 T W . 1 BT v S1f g FER % 10 (TH) TR | STl i wedw
9 1 SRR 20 TRT A 2 ¥ 1 -5 F ww-2 S R 5 (9iE) T e | snaedt
A THE T F W 100 TR H T wm-w F F 3 T e (vEw
HUS Y TF) AR =TI TG B | F U T BT | -3 A -
it v e ¥ saftE - @ 99 @9 9 IS 9US | T I B9
QA T FA T | it gl &+ 3w T E

(A) APPLICATIONS OF MATHEMATICS IN ECONOMICS

Part-A/ -3

Time allowed : Three hours

160
1. @ HKAC=—,* 5-30+20" then calculate value of marginal cost

—

"MC.

60 2
g %+5—3Q+2Q B @ S S MC 6 HH 91 Shiferg |

(i) If P== 100 - 2Q then calculate marginal revenue (MR)
& P == 100 — 2Q B & T 31 (MR) F1 5 91d Hifag |
(iii) If consumption function C= Ce* then calculate growth rate of
consumption.
e 3TRT e C= C e Bt ST it gfe | I Ffr |
(iv) Describe recognition conditions for complementary goods.
I TGS it TFEM Fi Y6l I e |
(v) What do you mean by rate of commodity substitution?
- T i ) R 39 I g9 € 2
(vi) What do you mean by Homogeneous Production function ?
THEY IS e | STTIh 51 STV & 2
(vii) Define a well-behaved production function.
T YR KA T S IReiya Hifg |
(viii) What is saddle point solution?
doa-fagea g ?
(ix) What is Simplex Algorithm?
Tarerera s Tiftrg fafren & 2

http://www.uoronline.com
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(x)

®
(i)

(iii)
av)

(v)

(@)

(b)

(b)

@

http://www .uoronline.com
What is Cobweb-model?
Fiqas Aied FNE ?
Part-B/HIT-9
IfP=10¢=* then calculate elasticity of demand.
e P=10+¢ 2 A 77 ) oire 91 FHd |

What are the main properties of the original production function
suggested by C.W. Cobb?

T T Hie gN 3 T H SIS o it g2 fovean 9 € ?
Write a short note on types of Games.

& YR W T Giwa o fafad )

Find the consumer surplus under monopoly if Pd = 274 —q* and
MC=4+ 3q

THITUHR H ITHEI i F9a e afe Pd = 274 - @2 a1 MC=4
+3q3I

U= 4ye78,L=T-WandY =rW where Y = Income, . =Leisure,
T = Total ume hours, W = working hours, r= wage rate then
calculate supply function of work.

e U= 4y=7#, WL=T-WSRIY = 31, L= f9gm, T= o 574
% T, W = HH % W, r= AOGd #t W T 99 F1 IR o 9
hifog | |

Part-C/9M-9

Section-I/@US-1
Maximise the utility function when U = ¥ and budget constraint
is 10=x -5y
SYAfT Fer B AR FA 9 U = e 3 a7 Iere Hiaew 10 -
x—5y=0%

Show the second-order condition for utility Maximisation for the
above.
ST Fer % oy e st #1 e %9 #1 ud =i
TS |

' OR/HEAT
Derive the ordinary demand function and the compensated demand
curve from the following

freafafaa & 2 arwor =i wom a0 wfges =i e # gat

it~ .

U=q,+q,+2q,q,

Y=Pgq, +Py, 10+10
Section-I/@UES-II

If production functionis Q=5L*K**and P, = 1,P, =2 and C = 100
then find the value of L and K which can Maximize total output.

http://www.uoronline.com
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(b)

(@)

®)

@)

(b)

(@)

®)

http://www .uoronline.com

I SeqRA e Q=5 LYK g P, = 1, P, =23 C=100 & AIL TK
F HH IR HIE S Pl ST F1 Sifsas ) 10

Derive input demand function from Cobb-Douglas production
function when the firm Maximize output subject to given cost,

FE O UG e @ Faw 7 werl it Foata SR s wH
< g% TR % STTEY Ity Afirnad W |
OR/3M™

The point of constrained cost mlmmlzatlon also ensures
constrained output Maximization prove.

whrafum @ Fradtew i fag wfrafa s siftmars

gfifea Far? ) fag =ifm)
Prove that CES production function is a specnﬁc condition of
Cobb-Douglas production function. 10

fag ST fF CES SR For Hia-Tad KeT %ol &t 06
faftre feafa 21

Section-II/EUe-III
Derive the equilibrium price and nature of equilibrium from the

following demand supply function. 10
=t AT v g BeEl SR W SR a9T 9 S S e
Hifsa |

D=19-6P,

S=6P _ -

Find the simplex solution of the following LPP
ot Yeftar wionfi s =6t faegeies fafy @ &a it

Maximize ¥ = 7 =5x +3x,

Subject to ¥fday  3x, +5x, <15
5x,+2x, <10
X,%, <0
OR/3HEA

The input-output coefficient and final demand vectors are as
follows. Find the gross output

AT~ W& 7Otk A Sifer =i wiw e gon & e Searer 91 Hifoe |
04 01 03 30
A=102 02 03(F=|10
0.1 03 03 20

Find the solution of the game where pay off of company and

unions is given

http://www.uoronline.com
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ﬁw?mmmaﬁh&mﬁqﬁmamﬁaﬁ@ﬁﬁﬁﬁw
F®RT:

FEAT BT TOFTaE]
c ¢ ¢ c
V. 25 20 17 40
UV, 30 19 13 15
TEARTAE ;45 7 15 10
v, 0 9 16 5
(B) ENVIRONMENTAL ECONOMICS
Part-A/MITT-37

Explain the following:

Tr=fatea = g9gEd:

@

(i)
(iii)
(iv)
)
(v1)

What is environment according to Indian Environment Act, 1986
schedule 2(=%;?

R ataTer STRIfRm 1986 =it 9/ 2 (F) % STTAR TR T 8?2
State any two direct factors of environment.

qgTeRor & Tl o woaeT SRRl =1 A SaEd |

State any two features of economic development.

anfeier faehra & fr=et <) el =t 3 witfo |

State any two misusable resources.

ot Q) gegartt danEl % = fafed |

Name human resources of water pollution.

SISt IGH & WA Bt s A fatad

What is drought according to Indian Meteorological Department
(IMD)?

e HAEstee fSueR= (WRar S fawr) & saEr
‘H\@T Y G % ?

(vii) Natural Vegetation

EICAGER RIS

(viii) Renewable energy sources

(ix)

(%)

®
(i)

o1t & & |
Components of ecosystem

nRifrHg 73 & W2w
Red data Book
T IF
Part-B/\IT-9
What is environmental economics 7
QITROT AT TR 2
Explain agricultural development and environment

" it foere wE Tateo’’ =5 SHEE |

http://www.uoronline.com
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(iii) Draw the diagram depicting types of ecosystem.
TR 97 & TSR S <ot gen fas s e
(iv) Effects of air pollution
IE UGHT &% JHE
(v) What is carbon credit ?
FET hIESS FA T ?
Part-C/\TT-H
Section-I/HIT-1
Explain nature of environmental studies.
YIS STEE H THid TR |
OR2HEA
Explain scope of environment eConomics.
e v &% &F it e Hifta |
Section-II/F-H
Explain the results of green house effect.
Ta-ue wvE & oo TEeEEd |
OR/Edl
Explain global warming.
PTUSEHI AT I THAA ||
Section-II/HT-1I1
Discuss different environment protection acts and laws in India.
ara # fafi= qatarn sifufem a sl #t faaem st
OR/BEA

Explain global environmental issues and the efforts to eradicate them.

Sy TataToe TE 9 3% THIYM & T 6 TaEd |
(C) ECONOMY OF RAJASTHAN
Part-A/HFT-31
(1) Area of Rajasthan
TG 1 FTFA
(i1) Where is National Desert park ?
T Ao U FE E 2
(iii) White Revolution
¥4 Shifa |
(tv) Which city is known as textile city in Rajasthan ?
ToreYH # R TRt o e Tadt & A QS S € 2
(v) Write two main reasons of unemployment in Rajasthan.
TR # SRASPIRY & < g@ wR et |
(vi) Write main minerals of Rajasthan.
TORYM & J9@ G & T o |
(vi1) State domestic product
T W] I |
(viii) RICO
gl

http://www .uoronline.com
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(ix) Write any two problems of Small Scale Industry.

g S = et & et ) o |
(x) Human resource development indicators in Rajasthan. 2x10
TR B 9 dureH fasr g |
Part-B/ATT-9
(i Write a short note on literacy in Rajasthan. 4,3
JOTET | R W U witra feopoq fafad |
(i1) Whatis famine? 43
3THTS1 Q 3T FN T & ?
(iii) Explain Cerment Industry in Rajasthan. ' 4,3
TSI ¥ GIA=E I <t e B |
(iv) Write main objectives of RIICO. 4,3
T & Wiy S fafad |
(v) Explain three importance of Tourism Industry in Rajasthan. 4,3
TR § 942 UM & HIE A1 Tad Jaed |
Part-C/*iT-¥®
Section-1/&US-1
Discuss the present position -of population of Rajasthan in Indian
Economy. 20,16
YA AT o mﬁaﬁmﬁaﬁﬁﬁwﬁﬁﬁ%ﬂé\ﬁ& |
OR/3EAT
What do you mean by Natural Resources ? Explain the importance of
Natural Resources in Rajasthan. . 4+16,3+12

TRFIie AT A 3T I THE & 2 USRI A Wwﬁmmaﬁ
e Ffa1  http://www.uoronline.com
Section-II/GUE-II
Explain the various power project of Rajasthan. 20,16
Tera ¥ fafir= fagga afEemsi #t v i |
OR/3EaT
Explain the objectives of Industrial policy of Rajasthan. What efforts
are made for infrastructure development in this policy?”"
oy @t e i % Sty T iR | 39 A # S-S A
WFEE R ? 10410, 7v2+7%2
Section-1I/@Us-II
What are the main constraints in the economic development of
Rajasthan? How can the constraints be removed 7 10+10, 7247Y2
TSI % S forrer it ey e =7 € ?‘s%i’aa‘qmtg fopar S
THAE ? _
OR/3gT

- Mention the main reasons for poverty in Rajasthan. Suggest the measures

to eradicate it. 10+10, 7V2+7%
IS H TR & T FRON T Seord R | 3 U HH 39 aﬁga@l
O0O
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Second Paper

(a) [Applications of Mathematics in Economics]

Time allowed : Three ; 5
ime allowed ; Three Hours Maximum Marks 100 for Ans

T R 10 S £
I. All questions are compulsory. Each question carries equal marks.
T T S ¥ | TE T F SF A E

(i) The RCS of Q, and Q, cquals to : rtuonline.com
44, il aqy -dy
{a) dq: (b) dq: (c) dql (d) dql
Q, ¥ fw Q, # RCS wan #
d‘?] '-dfh d(j: _(fqz
(a) dq (b} g, () 3 Z (@ i
(ii) The second order condition of utility maximisation requires :
@ 2p,p2fia =3 fri =B frn >0 ( b
Witz Bifu+ B f >0
(©) 2p,psfia 'pzzfn _P;_'flg <0 ( d

20 fia + P2 fya + 11 fr <0
AT ST F g W W T % R v ¥

@ 2p,psfir - B3 fiy - D fo >0 ( b
2piPafia + P3S40 for >0
() 2p,prfia = D3 S~ P S <O ( d

2piPofia + S+ P <0
(i11) Ordinary demand functions are homogeneous of degree zero for :
(a) Price only (b) Income only
(¢) Prices and income both  (d) None
TR | v e fog v fot o wee #
(a) S HiE ® (b) e smHE ¥
(c) Fiwl R Tt A ¥ (d) WE T
{iv) In Slutsky equation :
(a) Both price and utility remain constant
(b) Only price remains constant

rtuonline.com

15 for Science
TIF BVE § § FH-H-FR UF T F 999 4 L, T 99 ¥H ¥ IR AT |

{v)

{vi)

(vii)

{viii) If functionis Z =

(ix)

(c) Only utility remains constant

(d) Nome of the above rtuonline.com
TR TS H
(a) FIa it Su=ifa S fion et §

(b) ¥ =97 foom wt &

(c) Fa@ ST feor wdl & (d) vvdw § w9
Game theory was invented by :

(a) W.W. Leontief (b} G.B. Dantzing

{c) Neuman and Morgenstern {(d) P.A. Samuelson

ww fagra =1 snfasr e -

(a) T=g Ty, fomifes (b) ST, F=fsm
(c) =T ¥ AP (@) Ttu, HegeEa

Expansion path of Cobb-Douglas production function is :

MPI PL i iWFL _ 'u:'
@ Mp, ~ P ® Mp, "
MP,  MP; W _MP,
©"p "R @ = Mp,
Fla-STH ICNGT Tl =1 7@ 99 & .
@ Mp.~ P, ® Mp, T
MP,  MPy w _ MP,
© B 7P @ = Mp,
If U =LY, then the labour supply function is :
r _2 _ I - _L
@ W=7 W=7 ©OW=% (@W=-3
A% U= LY &, @ 5 % 9 wem € -
_r -2 _ I __L
@W= 3 W=7 ©OW=y% @W=-3

Ky 3 3
20 —d4x’y-x’ +y°

, then the degree of hcmogéneily

Txy

is :
(a) One rtuonline.com () Two
(c) Three (d) None of the above

) 3 -4 E A | 3
o e Z = x7;1x\ YR, b e o
(a) TF C ma
(c) i B (d) 395w & | B 7

If the slope of demand function is « and the slope of supply function is
P, then the time path of price will be oscillatory when ;
p p p p
{ =<0 =0 R I =
@ () © ;=1 @ =0

[+



(x}

(x1)

(xii)

(x11i)

{x1v)

(3w}

Ife AT wEE e o § 1 IR e e p § O wiWa W 9wy e

BIETEAE B 9 : rtuonline.com
N p B_ B_
@ =<0 ®=>0 (@©@c=1 (@ Z=0

The values of the variables involved in the linear programming problem
are :

{(a) always positive (b) always negative

{c) always equal to one {d) none of the above
Tt Sofin wee % otwrle 9 W ea Tl s

(a) THY YIEE (b) THI FTOHF

() THW TF F FUH (d) 3w § ¥ g 7l
Hicksian approach is popularly known as :

(a) The modern utility approach

(b) Ordinal utility approach

(¢) Cardinal utility approach  (d) Total utility approach
e =it oty =t wopear € 9/ w0 ® -

(a) smyfr swaifim fafy (b) Faras T fafy
(c) ToFTETEE Syt fate (d) T syEf fafy

The value of elasticity of substitution for a production function lies
between ..........

(a) 0and 1 (b)) landec {(c)0andec {(d)<O

et e W 1 Wi W e ¥ e arE ST #
(a) 0 TH 1 )1 W (@©O0TWo (d)<0

If cross elasticity for goods is negative, the two goods are :
{a) Unrelated (b} Substitute
{c) Complementary {d) None of the above

=fy § el % fau faet | sores € @ ol € -
(a) HT=E (b} ¥ 5
(c) I (d) T | 9 g TE

In input-output analysis, the total demand of an industry can be divided
into how many parls :

{a) One (b} Two

{c} Three (d) Depﬂnds on prirnary inputs

Wmﬁwﬁwwﬁmmﬁmﬁwwmﬁmﬁﬁmm
HHA T e
(a) TF
il
The rate of growth is equal 10 :
{a) Mareinal/Total

(c) Total/Average

HFT F T T

(a) SEFEE (b)) FOEE (o) FoEEm  (d) Hmrsei

rtuonline.com .,
(d) Wty s Wi wwa ¥

{b} Total/Marginal
(dy Marginal/Average

{xv1) In L.P. problem dual of dual is :

(a) Objective function

(b} Optimum solution
() Dual prublem

(d) Primal problem

st & g wm dw A ¥ - rtuonline.com
{a) T& wEA {br ATFEH T
(c) &9 T7en (d) wufrs F9=

(xvii) Cobweb model is mainly associated with :

(a) Game theory {b) Industrial sector

(¢} Agricultural sector {(dy L.I* problem
HFEIE ASe HeAT frae vt § .

(a) &=t fagm (by sirgifi &

(c) F9 &% (d) Tas gofisn gwem

(xviii} Given the marginal propensity of imports M'(Y) = 0.1 and M = 20 when

Y = 0, the import (M) function is :
(a) M=20+0.1Y by M = 200 + 0.9Y

(c) M =01+ 20Y (dy M =20+ 0.9Y

o w EE T M(Y) =01 d e Y =0 R | M =207
W (M) FER E

(a) M =20+ 0.1Y M=

200 + 0.9Y
)y M =01+ 20Y (dy M =20+ 09Y
(xix) Calculate the value of B, if D = — 400P + 4000 and S = S00P — 500
(a) 7 (b} 0 (cr 5 d) 10
P =1 7o frefed, aft D = - 400P + 4000 727 S = S00P — 500 71 ;
(a) 7 (b 0 (c) 3 (d) 10
(xx) In the input-output analysis, a, is equal 1© :
XU X}' X
a) v by v ) X -
{a) X, (b) X, () XX, (d) X
s -frfa faeetem # g s g @
X X, X
(@} %~ (b) ¥~ ) XX ) 5

~

o

i

Section-A { @UE-H )

Given utility function U = g¢,4, and budget constraint is 100 = 29, + 3y,
then find out : _
(1) the optimum values of ¢ and g, .

(i1) the marginal utility of money rtuonline.com

(111} check with second order condition 10+35+5

ST W U = g g, 7o 9o ey 100=2¢, +5¢, B2 gu &, @1 7w
EAE Ol

(i) g, g, F TIFEE =

(i} HE F TH STEEE

(it) 5o %9 # v8 gro o9 w0

rtuonline.com



{a)

(b}

(a)

(b}

(a)

(b)

{a)

rtuonline.com
If utility function U= g%g, and p,, p.. M are prices of the commodities

respectively, then find ordinary funciion and give its characteristics.
10+5

Ife T W U= glg, & aur el #t Fimd p, p am sdm M E
# x, @ x, TS & fag A Hin W g wE T = e
fardraemd faferd |
Show the nature of the commodities :

X,=60-4p + 3p, and

X, =38 - Tp, - 9p, 5
TRyl W wEE T
X 60 - 4p, + 3p, 79
=38-Tp, -9,
Show that mdﬂerencca curve is convax to the origin. 10

zvTe FiF geem 7w w fag F e g g
If demand function of a monopolist 1s p = 80 — 10x and total cost
function is ¢ = 5x% + 20x, then find optimum quantity of output, optimum
price and quantity of maximum profit. 10
TfE T TETHER T A Ee p= 80 - 10x ¥ a9 FE T/ FeE o= 5y
+20x T A IS SO A T, FTFEAT HIAq A0 S
TS H AT T HIO |

Section-B { @Us-T )
If the general form of Cobb-Douglas production function Q = AK*L”
is given. In the condition of budge! constraint KP, + LP = C, prove
that input ratio of minimum cost in optimum condition w 1l1 be:

L L . "
% =3P, Ituonline.com 12

T T TR W - T e Q = AKCL! e & e
wfedy KP, + LP, = C 91 feaftr & firg =i 7% =gmom & =1 1=

ERlo! wfnw "f‘l STFET T H '

K_ah -

L PP -
Find the elasticity of substitution for Cobb-Douglas production function,

g
Fa- T TOUEA T § Wi Sy 3 e |
If production function is Q= SL*K*™ and P_= 1. P_ =2 and C = 100,
then find the values of L and K which can maximise total nutpm
9fe SETEA T Q= SLVKY 9P = 1, P =27 C= 100 T L 3
K%ﬁmm%ﬁwwmmwa 10

rtuonline.com

o

(b} If demand and supply functions are P, = 20 — 3x* and P_= ¥’

(a)

i)

(a)

{b)

respectively, then find consumer’s and produocer’s surplus. 10

A AT SR G e L P, = 20 - 307 @ P, = 20° ©, &t g
FEIE W AR JIA HT0 |

What do you mean by a well behaved production function ? Show that
the Cobb-Douglas production function Q = AL*KP is a well behaved
production function. 747

TEFEIE I T | T ghe € 7 wwied R wia-Tree weaed
T (Q = ALK s e werd €
If demand function and average cost function of 2 firm are ¢ = 90 - 2P

and AC = (F - BQ + 57 Q respectively, then find the level of cutput

where profit 1s maximum, 6
g |1 Hed A9 S7E o FHEs Fw99: Q = 90 - 2P 7en AC = (F - 8Q

+57+-EJ1 21 T T = 9T T 9 S el @ St o

Section-C (TSR ) rtuonline.com
Distinguish between feasible solution and optimum solution. 3
TS BE T4 SAFOaE 307§ ST ATy |

Solve the following [L.P. problem with the help of simplex method :

Maximise 7 =400 + 35Q,
Subject to 2Q, + 30Q, < 60
4Q, + 3Q, <96
Q,Q,20 15

Wﬁwﬁummﬁﬁmmmmwaﬂﬁw@:

wiuswad wited : Z = 400, + 35Q,
wiE -

2Q,+ 3Q, <60 rtuonline.com

:l-E:J_L +3Q,<96

Q.Q,=0 15
Write assumptions of input-output analysis. 4

- fortr Ferweroo =t wrand fafed |
If technology matrix A and final demand vector I is given as ;

2 3 2 20
A= 4 1 2 and F=10
1 3 2 12

(i) Compute zross output for each sector.
(i) Find inter-industry demand matrix.
T T dieee A A st A At F P Rl g o

o0 oo



0. {a)

(b}

_
A—-I-

-

=1
— B b2
(S T

zcr‘|

F=|10|

2
2 e
2 12 |

(i) wous &9 F Tom whe 3wty =1 9 am SR
(it) H=R-Sm Hm-Afgw e

Given :
Q,=60-0.25p

Q,=-10+0.1P

P =275

Find the market price and equilibrium price. Obtain the time path and

interpret it.
feargen ¥ -
Q, =60-025P,

Q,=-10+0.1P

rtuonline.com

P =275
waﬂ;ﬂﬂmwﬁmmﬂ%ﬁﬁi T T T HE a1 SHH
o= wifsE
Find the solution of the game :
—B's B's strategies
E A'g b, b, b, b,
g a 8 -32 28 =30
Sla, [-12 14 -8 12
= | a 2 -4 0 -2
rtuonline.com
B’s B ! T
B [As b, b, b, b,
% a, 8 -32 28 -30
& | 12 14 8 -12
< | a 12 -4 0 -12




TR TR |

Second Paper (a) Wb 7 sl 91 fer wdt ¥ '
(a) Applications of Mathematics in Economics (b) Fae Fr fer =t & rtuonline.com
Time allowed : Three Hours Maxi 100 for Arts (c) Faer Toaf fer wdt € (d) svde F | =8 =
aximum Marks : . . - . ) _
75 for Science - (i1} Given the marginal propensity of imports M'(y) = 0.1 and M = 20 when
TEF GUT # § FH-9-%8 UF WS #9997 0 g, T 99 v %wﬂﬁ&u y = 0, the import {M) function is
WYS G 1 a1 rtuonline.com (a) M =20+ 0.1y {by M = 200 + 0.9y
1. All questions are compulsory. Each question carries equal marks, NI () M=0.1+ 20y (@ M=20+09
20x1=20 FEaH AT TR MM =01 FgEEamy=0ERA | M=207],
ity aifirrd € 1w T ¥ smTnm £ | 3y (M) wed ¥
(i) In Slutsky equation : (a) M=20+ 01y (b) M= 200 + 0.9y
(a) Both price and utility remain constant ' (Y M=01+ 20 (dy M =20+ 09y
{b) Only price remains constant (iii) The indifference curve egoation is :
(c) Only utility remains constant (@ U" = flg, » by U° = fig,, q,)
(d) None of the above ) U=fig, q,) (@ U= fig, y)
o SERITN 56 T EAEEA §
rtuonline.com (@ U= flg. » (b) 1 = fig,. q,)
€ U=Ag, q) @ U=Aflg, »

(iv) [f a consumer utility function is U = Jx +2,f; , then the MRSI, will be:

@3VF 1 © %\E @ 1445
=g w FireT =1 swlfr wer Jx+2)y ¥ @ MRS_€m -

o @ 29 ® 14k (c}%,g @ 1+4y

(v) If MR =25 - 3(®, then demand function will be :

Q (a) P=6Q b) P=25-6Q
) P=25-( (d) P=-6Q
T MR = 25 — 3Q° 81, °t | e 29 :
(a) P=6Q (b) P=25-6Q
P=25-@ (d) P=-6Q
(vi) What is the result of a zero-sum game ?
EV () 2 (c) zero {(d) oo
¥ A G N o == S g ?
(a) 1 (b) 2 @I (d)oFa
(vii) The slope of the Iso-cost line will be : :
(a) wir (b) —w/r @Dw=r (d) r/w

rtuonline.com



{viii)

{ix)

(%1}

{x11)

(xiii)

TR 1T w1 ST &N - rtuonline.com

{a} w/ir (b) —w/r cyw=r (d) w
If demand function is P = 16 — x* and x = 3, then consumer surplus will
be :

(a) 7 (b) 28 (©) 39 @) 18
A% | B P = 16 — &2 a2 x = 3 &, a7 S9N St 5=d 2e -
{ay 7 (b) 28 {c) 39 (dy 18

Cobweb model is associated with :

(a) Game theory (b) Industrial sector
{c) Agriculture sector (d) L.P. problem
TREATE Hiew TEATa Ty ¥

(a) T fagra (b) S &3
{c) 0 &= (d) X drfEm Fwe
In I..P. problem, dual of dual is :

{a) Objective function (b) Optimum solution
{c} Dual problem {d) Primal problem
TEM SfET § 5 w50 B g

rtuonline.com

(@) 78T B (b) HATHTAH &

(c: 59 e (d) wrerfirs waEr

In input-output analysis, @ 15 equal (o :

{ax (b} x./ x, -' {€) x./x. (d) x fx,
rra-Fta v o a, A B E

{arx, (b).rft [L)x/'x {d}xix.

The c:ld'sncxty of technical substitution is measured b} :

(a} Slope of iso-guant curve

(b} The change in slope of iso-quant curve

(c) Ratio of factor imputs

{d) None of the above

TRt Wioesres ®1 &g =t ot §

{a) THING T ¥ o o (b) THIYUE O ¥ o | ufiEad 4

(c) T whodl oAU H (d) Sy F @ ¢ A
If "¢’ is the elasticity demand for the product of a monopolist, then

—£5 isthe : rtuonline.com

(a) PPMR (b) F/AR (c) e/AR (d) AR-MR

Ift <o it TR F o S T S Ew @ ﬁ o

(a) PIMR (b) P/AR (c) e/AR (d) AR-MR

{(xiv) If the change in marginal rate of technical substitution between two
factors is zero, then value of elasticity of substitution is :
{a) zero (b} unity
{c) infinitive (d) cannot be computed

SR B W W WAl WeAes @ S W A uiEds = oE, W

fireeTaT w5 A R . ~ rtuonline.com
(a) T (b) T}
(¢) aTa (d) I T F I THA!

(xv) Ordinary demand curve will have a greater demand elasticity of price
than the compensated demand curve, if :
{a) Income elasticity of demand is positive
(b) Good is Giffen
(c) Income elasticity of demand is negative
{d) Good is an inferior
U [T W W, aTagfd w0 aF w qe ¥ FHd W A0 o A
'E‘I"'ﬁ, M
(a) T = o A YA § (b) g T #
(c) =T F 3H T HOREE ¢ (d) e g ®

(xvi) Average production of X is :

rtuonline.com

(a) 0 (b) x,/q () g/x, (d) O/x,
X, = sirwa e
@0 (b} x,/q (c) glx, (d) Ofx,

T2 4]
(xvii) In two person zero-sum game, the pay-off matnx of A player is -3 6 l .

then pay-off matrix of B player is :
-2 -4 -4 4 {2 4
G"H -6 (b)[ _6}(@ E _6} (cn‘g, 6]
% =i I I 9w ¥ A faed # 3-aw A [2 4] W WMB
faenst =1 9-sifw A @ rtuonline.com

-2 -4 - 4 5
(a)[3 _6] ) [-% ..6] © |3 _46] @ [% ﬂ

(ovill) If the udlity function u = g,.9,, then the equation of normal demand
function is :

310
a2 g» ¥ p
@g, =" Mag=3 ©q=73, D= ==



I IHEHFRT T u = g,.g, F, T FHR AT FER B W E

Pz & ¥ 2p
{a) g, = ) () g, = 3 g = 2p, @ag, = y
{xix) In Cobb-Douglas production function if o0 = % and § = -%'

{a) Increasing
i{c) Constant

(b} Decreasing
{d) None of the above

ot Fa-sEm A TR A a= 5 qp= 2 B, 9 4 e

(a) 954 &4 (b) =R B2
(c) Feer (d) 39w § | =g 7
xx) If the slope of AC curve is positive, then : . .
o @ MC  AC P B MC < ac  !fuonline.com
{c) MC = AC {(d) None of the above
oft 7% =1 T vAeE O, 99
{a) MC > AC {(b) MC < AC
(¢) MC = AC (d) S H§ | P

Lk

Section-A (@US-37)

(a) Given the utility function U = (x + 2) (y + 1) and budget constraint is
4z + 10v = 102, then find out : 12

(i) Optimum value of x and ¥

(it} Marginal utility of money (or income).
T TR U= (x + 2) (v + 1) 797 5912 yigaey 4x + 10y = 102 2
EQ ¥, o 9@ wi

(i) xRy F TR 9H

(i) TET (39) F GrEE T

(b) If
rtuonline.com 484

=7+4

find the output level of which total revenue is maximum, also find maximum
Tevenue. E

nﬁrpzf%—ll &, & g witey o $e og e seums g o arfieas ot

a1 T FE o9 Fm wmi

IfU=LY -0.1L*-0.1Y? where L and Y are leisure and income respectively,
then obtainn labout supply function and discuss its characteristics. 20

T U= LY - 0.1L7- 0.1Y? &, ST L aen Y s s1om aan 3779 &, @t s 1
I e I ST e g v fafae

Ln

Derive the compensated demand function if utility function is U = g g% .

Discuss its p’l'D]}El'[iES also. riuonline.com 20

A ST ®e U= gt gf 2, @t afrgzs w1 %! @ e (e
Fifere | Toet fordryar o fatam
Section-B ( @UZ-] )
{a) Find the consumer surplus when P = 0.5 if the demand function for
commodity is P= ™. 10
7f% Wk e T W e P = e AP = (.5 B, 9 Sueiies #1 wwa 7
EqiErd]
(b) Differentiate between Cobb-Douglas and CES production function.
10
- FiE-TeE 9 CES 39T $64 § 36 Sifeu)
Derive the cost function from the following production function : 20
0= Axf.af
where o and B are positive constants.

A2 &3 T IR wer | T Ber i gty wie

0= Axf .xf
e o ST B ST Rt ¥
Derive the input demand function from Cobb-Douglas production function
(CDPI). Discuss its properties also. 20
HiE-Ser ST Word § HIYT 1 /1 FeT g S 39T Egaang ot

fafaw |

rftuonline.com

Section-C (EUZ-H )
(a) Given : 14
Q, =180 - (.75P,
Q,=-30+03pP_, P =220
then find the equilibrium price. Obtain the time path and interpret it
e ‘{;@HT% :
Q, =180 - (0.75P,
Q. =-30+03P_,P =220
1 W FITA T A 997 SHH time path 99 HOF HETT Fiiw
(b) The pay-off matrix of player A is given below :

a<7 5 3] 2\

Determine the pay-off matrix of player B, if game is two person zero
SUMm. . ]
rtuonline.com




10.

TETTET A ¥ 1-3iTE Afeam ey # ¢

rtuonline.com  ,_(7 8 4
4 7 2

faemgl B #1 I-A1% Aoy 9@ Fifow, 3fE @a & =t g3 9 e

Solve the following linear programming problem with the help of simplex
method ;

Maximize ;
o=4x + 6z,
Subject to ;
x, + 3x, < 240
3i1 + 41_? < 370
2x +x,< 180
x,x,=0.
foraes 5t = o © = Tt Teen = T et -
HATERas FITSIT
I=4x +6x,
waEy :
x +3x, <240
3x, +4x,< 370
2x, +x,< 180
X, x> 0.
If technology matrix (A), final demand vector (F) and input co-cfiicient
matrix of labour (L) are given is :

04 01 20
A=[0.2 03}=F[15]=,L=[0.5 0.6)
Compute :

{1) Gross output of each sector (x)
(i} Total labour required and total value added
(iii) Calculate the equilibrium price (P) if the wage rate is ¥ 60 per day.
20
=t gt Bfgwm (A), st w01 wfcy (F) oik o9 =1 31g2 1o #fzm (L)

HIFRE :
04 01] _[20
A=[o.z 0.3]1:[15]=,L=[0.5 0.6

1 HIAT : i .
@ e B3 & ® rfuonline.com

(i) o9 FI T AEEEH TH (L) T F S T god F= W e |
(iii) SR FE FOGH H W T 60 Wk &, @ wrg S (P) 919 il

rtuonline.com




ECONOMICS
Second Paper
(a) Applications of Mathematics in Economics
OR
(b) Environmental Economics
OR rtuonline.com
(c) Economy of Rajasthan
Time : Three Hours Maximum marks : 100 for Arts
75 for Science
(A) APPLICATIONS OF MATHEMATICS IN ECONOMICS
PART-A ( 4M-31)
1 (i Total costis C =50+ 60x - 12x" + x° then find Average cost and
Marginal cost.
T AP C = 50 + 60x — 1242 + x* Tt S50 T T 790 & 99
Hifeme |
(i) Marginal Revenue (MR) = 20 - 3x%, find the Total Revenue.
Hafe 3t (MR) = 20 - 3x° Tt 373 919 HHog)
(iii) Matrix A and B are given, find A + B and A ~ B.
e AT B R gen €, A+ B a1 A - B I =ifom)
(iv) Define elasticity of demand.
i St wre st it sifen
(v) CES production function.
P E H. I e |
{vi} Define Marginal raie of technical substitution of labour for capital
(MRTSLK).
Tt Goit 3 fora aeeitnt witreenmes it wiisia 5 (MRTSLK) =1 aftafie
“wifna
(vi1) Define elasticity of subsititution.
giorere = @ =t afturfia s
(viii) Define feasible solution in LPP.
Tt v Twe ¥ §ueg T #1 ofonfa s -
(ix) Zerosum game.
T g B |
(x) Open and closed input-output model.
el W AC AR~ E e | rtuonline.com
PART-B ( ¥FI-9 )

rtuonline.com

2. () Calculate elasticity of demand if the demand function is 2p =

HHI| bl

=% =T wer 2p=% # 3t i =) dire 9 R

(i) Explam the properties of indifference curve.
eTw o wi fdmand fafaw) . rtuonline.com

(i) Demand function p = 10 - 2x, supply function p = 2x Calculate
consumer’s and producer’s surplus in equilibrium.

H B p= 10 - 2x 79 I e p = 2x SR § SO 9 SRS St
ESnk ok oin ) (I '

(iv) Demand function of a monopolist p = 100 — 4q and total cost (T¢) =
50 + 2q, find the monopolist maximum profit output.
THIYRT 0 Wi e p = 100 - 4q AT Fel A (Tc) = 50 + 2q T
sifTa IR = W IR S

(v) Describe the assumption of input-output analysis.

HT-wa FavaTe st Al & qvE w1l
PART-C ( MIT-6)
SECTION-I( @uz-1)

. (@ Maximize uiility U= q,q,, p,=4,p,= 10and Y = 200. 10+10

Iifiran siftaw Ffoe 3 U= q,q,, p, =4, p,= 10 391Y = 200.
(b) Derive the ordinary demand function and the compensated demand
curve from the following—

o1 F @ aremor Wi e qen afirgge Wi we el s

U=qfq:" rtuonline.com
Y =pg;+paq;
OR ( 39aT)
If the utility function of a consumer U= 48L + LY —L? then find (i} labour
supply curve (ii) characteristics of labour supply curve and (iii) elasticity
of labour supply curve. - B+6+6
TfE T IUNIET 1 IFEE G U =48L + LY - L & () s wgff =%
(i) %9 % fd =% = v a9 (iii) 59 % 9ff = =} o o i)
SECTION-I( @Us-1I )

. Derive Input demand function from Cobb-Dougulas production function

Q=AL=K". 20
Q = AL® KP ==-376 IR B 189 T o e Sitag
OR ( 319ar)

(@) Derive elasticity of substitution in Cobb-Dougulas production
function Q= AL=KP, 10+10
Q = AL® K* $E-S7e/ IR o & wReas =t & fef
it |

(b) Explain the propertics of Homogenous production function in
context of Cobb-Dougulas production functin Q = AL= K?.
Q= AL* KP F-TTerS SN Wor % T 3 6omig S v 5t
ferdraamsii =it =arem #ifog | '

rtuonline.com



5. (a)

(b}

{a)

(b)

@

(i)

(iii)

(iv)

)

SECTION-III( TUs-101 )
Derive the equilibrium price and nature of equilibrium from the
following demand and supply functions. : 10+ 10

Tt A 9 Fo 10 T A 9 W i WM T i |
Di=18-3p,
St=-3+4p,_,
Find the simplex solution of the following LPP-

o=t el i e = Faereies fafa 9o wife-
Maximize =%, +°%,

Subject 10 6x, + 2x, <36

rtuonline.com

5x, + 5x,<40
2x, +4x,528
x,x,20
OR( 314=r)
The mput-output coefficient and final demand vectors are as follows,
find the gross output. 10410

T Yo e st A wien i gen & wwat Ioa I Fi)

0304 0.1 20
A=1050206(F=|15
0.1%3 0.1 23

rtuonline.com

Find the solution of the game, where A’s pay off is given.
e = T 9a Hifey w2 A w1 i-afe

8 710 s 86
i A=[10912 : (i) A={12136
1159 1110

(B) ENVIRONMENTAL ECONOMICS
PART-A ( WTT-31)

Explain the following (Frafafaa =i wamgw)- 2x10=20

What do you mean by environmental studies.
et faf | aree o aeed & ?

Name any two components of eco-system.
afifafat 93 F et @ 9= & - faferd )
Welfare economics.

TR ST |

Draw the environmental kuznet curve.
TATRONS FUAE T 1 T S
Atmospheric changes.

TFATER T |

rtuonline.com

(vi) National Green Tribunal (NGT)
EE Tia = |
(vii) Ozone depletion.
FIHA A BT ST |
(viii) In which city Earth Summit - 1992 was organised ?
gedt geier-1992 T v o st fean e 2
(ix) Write any two functions of WTO.
o IR WS ¥ WIS & R farad |
(x) 'What for Amrita Devi Smriti Award is given ?
areren 2t i o s forg Ry s 2
PART-B ( 97-9)
(i) Explain market failure by existence of exterpalities. 4
aTEraTel % ST 3 FWU IR W STAEeAR Sl aesd |
(ii) Discuss any four effects of climate change. 4
ey SREd 3 A T @ |
(iti) Explain any four human sources of water pollution. 4
IF WO I HE W AEE T = wwed |
(iv) Explain importance of Biodiversity. 4
I fofaam & wew 5 wHEEa
(v) Discuss main points of Kyoto Protocol. 4
TR W ¥ TS fagei i e |
PART-C( ¥ITT-¥H )
SECTION-I( @WuE-1)

rftuonline.com

. Explain the concept of sustainable development. How it can be

achieved 7 8+12
gfte frepra it sraaron = wowsd 1 8 SR yw frmawa ® 7

OR ( 37941 )
Explain the meaning of Environmental Economic. Enumerate the relation
between economic. 10+10

Ty SR W Y HERd | St T T v & B TE
et ST :
SECTION-HI (@v=-1I )

. Discuss relation between trade and Environment. 20
TR A JATE & E g I | .
OR( 319aT) rtuonline.com

What is Global Warming ? Explain the protection issues for Global
Environmental concern. _ 5+15
Ay il | 7 finmg # 2 v W wtam e ¥ vl St s

Fifae |



SECTION-II{ @ve-1 )

5. “Indian Environment Protection policy should be modified and laws

shounld be strict.” Do you agree with the statement ? Give your own
suggestions. 10+10
* et waiERer gee fifa § GeityE S =feu aa Fem e e wfey )
7 379 TH HYE W HEHG § 7 S gEE e |

OR( 319aT ) rfuonline.com
Discuss various multi-national agreements against environment depletion.
Tt wr ¥ fawg fafi= agosts afudl < fad=m it 20

(C) ECONOMY OF RAJASTHAN
PART-A ( 4T7T-31)

. (i) Presently which crops are included under the National food Security
Mission (NFSM) in Rajasthan ?
TdAE H geeT H S-S o wEe upE e e tee F wfEfaa
%2

(i) Which is the nobal agency for generation and conservation of energy
from non-conventional energy sources in Rajasthan ?
ereeT H - Ui S Sl | S SR SO IR S "grE
23 =it Area ge e E 2

(iii) What is the main objective of Aravalli Development Project ?
st e i S SR R 2

(iv) What are the main constraints in Development of Rajasthan ?
e % Tamr | W 9 #E-SE ¥ ?

(v} Write the name of main salt production factories in Rajasthan.
T H A SeA F HIRaE & A et

(vi) What is the main object of Bhamashah Yojana ?
TS A A IEevE w2

(vii) Write the two reasons of increasing population in Rajasthan.
o H weEe 9fs F 3w fafaw

(viii) What is the main object of R.1.8.5.Y.? ~ rfuonline.com
e ST fy T A (SRS IEIEAE.) g SR
FE?

(ix) Write the period of 5th State Finance Commission.
Jres T Taw A w1 ey fatae

(x) Write the main objectof MG NRE.GS.
TETT T TET WO T RS AT o HeT Sevd fatan

' PART-B ( ¥71-9 ) '
. (i)  What are the major problems of Sheep Husbandry in the state 74, 3
T H Wg-IeH SIa9RE F WE I JE ?

(i1) ?'mr%lft‘ea‘v the nwn‘aqg:iective‘s Of RHCO. . rire com
TE quEd | - :
(iif) Write the name of the Golden-city and Sun-city of Rajasthan. 4, 3
T ! T-R ud g & am fata
(iv) What are the constraints of Industrial development in Rajasthan 7
TereE S e w5t et SE-a E 2 4,3
(v) 'What are the main Handicrafts of Rajasthan ? 4,3
TR ¥ @ T AW § 7
PART-C(¥I-¥) rtuonline.com
SECTION-1(@u2-1)

4,3

. Discuss the present position of the State of Rajasthan in Indian Economy.

YIS arferaen € goram T5a %t fearfy Fraffta =5ifem) 20, 15
OR ( 3¥ar )
Explain the reasons for famine and drought in Rajasthan. Discuss short
term and long term drought. 10410, 7V2+7'2
T H ST TE @ ¥ RO o SeE WG | TS YO 5N g8
Q Frozd ¥ fau vt 8 SreushTeE Td QSR SgEee i faEe
it |
SECTION-U(@u=-1 )

. Discuss the role and problems of Tourism in Rajasthan and also make

suggestions for its development in near future. 8+6+6, T+4+4
T | yde TEm =ty wE sl @ Seord iy SR e
iy # o faem ¥ fo g@m - dfa

OR ( 3794T )

Explain the importance of small scale industries and handicrafts in
Rajasthan. Analyse the problems of small scale industries and suggest the
measures 1o improve them. 8+8+4, 6+6+3
e # o7 SURT oo TR SEN 6 e W Ay | oY a5
TRl Fi P w0 U IE @0 S g
SECTION-III ( ©@ue-1II )

. What are the objectives of economic pianning in Rajasthan ? Review th

economic progress made during the period in Rajasthan. 8+12, 645
Torer ¥ enfei Frem & agw wn € 2 Arere % 3 g T
gﬁmwﬁﬁmﬁm|

rftuonline.com

OR( 31aN) .
Mention the main factors responsible for poverty in Rajasthan. Review
the specific programmes to eradicate the poverty. 10+10, TVa+7V2

gere ¥ Frdean =1y o0 9 WHE T # Soes S| T H
Tt e & At wrimal ot i St
SSS




Second Paper

(a) Applications of Mathematics in Economics
Time allowed : Three Hours or Aris
Maximum Marks : 100 “.)r Xrt
) ' ) 75 for Science
TEF S § § FH-U-F0 T T T 997 S0 §U, FO 9E W ¥ I oy
TS w10 SR
1. All Questions are compulsory. Each question carries equal marks.
it weT A ¥ | wew v ¥ o E w9 rtuonline.com
(1)  First order condition for utility maximization is -

T AT F WYY 6 S 9 ¥

h_fo, s _ S
(@) “-=2F2h w L=Ln
b P L P
f: f‘o ‘{-I f"“ n
—=r== gy =t )
© L @ Py P2
(ii) The indifference curve equation is :
ST o F EE E
(@ lP=rig.y ) U"=flg,q) ©@U=fg,q)d)
U=fig. v)

P
i

(iii) If a consumer utility function is {/ = [t + 2,/y then the MRS will be

A% T I T I W U=qx +2)y &, 9 MRS, T -

1~ , — 1 fy —

(a} 5\'1 (b} 1+4/x (c) E'v'? (d) L+Jy
{iv} The slope of compensated demand curve are always -

(a) Negative (b} Positive

{¢) Zero - {d) None of the above

&Il A W w1 e SR A E

(a) FOTHF (b} EAMF -

{c) = (d) THE F ° FiE T8
(v)  The second order condition for profit maximization is -

(a) P* 111f22_f122)>0 (b) Pz(fll*fm_ﬁzz)‘:o

© PHfiy. fon —fl?_,): 0 {d) None of the above

oY ST F Ta s Sl & .

(a) P~ 1:~f22—f1?i)1‘-‘0 (b) Pz(fn-fzz _f,32)<0

© Pf - £2)=0 @) s § A 9
rtuonline.com

{wi)

(vii)

if marginal cost MC = 16¢**?and total fixed cost TFC = 100, then total
cost function will be :

T T ST MC = 16e°% A e g TR amm TFC= 1008, fr ge
AR e BT

{a) C=40e"2 + 60 (b) C=402 + 100 ptuonline.com
(c) C=16¢"2 + 84 (d) C= 162+ 100

If price elastcity of demand is unity (ed = -1) at ail points on demand
curve, then the corresponding demand function will be :

afe =77 5 % At fargadl o Wi = Fi9a | T (ed = -1 T,
T AT B BT

B
@Q=bp ®L=,  ©@Q=a+bkp @Q=a-bp

(viii) If ¥  represents the price elasticity of the ordinary demand curve, £,

{ix)

(x)

(xi)

represents the price elasticity of the compensated demand curve and
the income elasticity is positive, then :

(a) Z”} 'in ) Eu{ ‘En
(€ Z, =%, (d) None of the above

afE 3, AR | 95 F e A g ¥, £, figes w5t o 9
wHg wire =i guiar & i o= O v W@ e

@Z,>&, 2, <5,

©%,=&, (d) 37 # & %iE -

If MR = 25 - 3(; then demand function will be :

afs MR = 25 - 302 €1, at |7 e &9

@P=60 (®P=25-60 ©) P=25-0}(d}
P= 60

If total cost function is C = f{(Q} + b, then Average Variable Cost (AVC)
will be :

4 @ @@ W C = (Q) + b T, 9 irem aftEd=eita s gr

SO f@ b b dC
T - = .= _;__ o 'd —
Cross elasticity of demand between two complementary commaodities
will be :
{a) Zero (b} Positive
{c) Negative {d) None of the above
& T aggeil & o= |5e e et e ded
(a) 3 (b) ¥
{c) F|ITTH () sHEH =L 7=
riuonline.com



rtuonline.com

(xii) To solve a wage-dispute problem between labour unions and employer

you will use :

{a) Input-output analysis (b) Linear programming

(c) Optimisation behaviour of fum

(d) Game theory

et 5 o U9 ¥ 9 Toer Yowe F fag sy =i

(a) SArE-TET Tagera (b) I drmfEm
(c) T SITFeTH SRR (d) @a e
(xiii) An objective function in Linear programming problem is always -
(a) Linear (b) Non-linear
(¢) Curve-linear (d) All of the above
g W e | 3Ee wod sam A ¥
(a) tas (b) sitfas (o wm-EE (d) TEE T
{xiv) What is the resalt of a zero-sum game :
{a) 1 (b} 2 (c) zero (d) =
=1 A B WA O E
{a) 1 (b) 2 )= (d) =
(xv) Famous Leontief inverse is
(a) [I-Al'd b [/ - AT
(cra, {d} None of the above
() [1-AY'd by [~ Al
(c)a, (d) IS § ¥ F5 T2
(xvi) Which production function is associated with B.S. Minhas :
{a) CID PF (b) VES PF (¢c) CES PF (d) None
T & F-9 I Bl T o e A e g
{a)CDPF (b)) VESPF  (c) CESPF (d) =g 7l
(xvii} The slop;c of Iso-cost line will be : rtuonline.com
THERT & 1 S g
W w r
{(a) - (b) - cyw=r (d) ”

(xviii) If the output elasticity of cost is less than one then it means :
{@MC=AC MIMC<AC (©MC>AC (d) None
=t @ i Ieaed | U | 9 8, @ v s #

(@ MC=AC (MMC<AC {()MC>AC  (d) = &

(xix) If demand function P = 16 - x* and x = 3, then consumer surplus will

be:
Jfe q1 Se P = 16 — X* 991 x = 3 B, 6 STHI61 1 o=a B
@G (b} N {c) 1 1

rtuonline.com

b

(xx)

(a)

{b)

(a)

[§3)]

(a)

11 the slope of demand function is @ and the slope of supply function is
A, then the time path of price will be oscillatory when ;

p

p
—= 0 —>{
(a) ” < {b) a >
" rtuonline.com
© == 0 () None of the above

R WP e T o€ A9 I B W o fE, @ S 5 weE 0y
AEEH B 9

B B
—<0 —->0
(@) < (b) ==
(c) —2 =0 (d) SHIE F { *I¥ T

Section-A (GIZ-H)

Determine whether the utility function U =g,g, —D.ﬂl(qlz +q%) is
regular strictly quasi concave, 10/74

e o feam e SURE W U = g,q, - 0.01(g2 + 42 ) Frafir Tohetor
G AL |

Given utility function is U = g,g, and the budget constraint is 100 - 2q,
- 5g, =10, then find out :

(i) the optimum value of g, and g,
(1i) the marginal utility of money (or income} 10/ 72
SuEifit wer U = g,g, 791 9w giwae 100 - 2¢, - 5q,= 0 A g E,
ot 3 wifed

rtuonline.com

(i) g, % g, % STTHEE rtuonline.com

(i) HET (40 3 Ft T I

Derive the Slutsky equation given utility function as U = f(g,, ¢,} and
income constraint as ¥ = p,g,+ p.g, - 16/12

St el U =f(g,, g,) Ta s Af@s Y= p g, + p,g, A TCEA W
ToEERT T o e =i |

Obtain its elasticity form from the above Slutsky equation.  4/3

I TR THIHI T T rE T FW i |

If U=48L+ LY - I, where L and Y are leisure and income respectively,
then obtain labour supply function. 174

qfg [/ = 48L + LY — [*%], &1 L0 Y 5H91; S0 01 39 §, 81 99 50
IR e T S|



(b)

(a)

(b)

(a)

(b)

(a)

(b)

(&)
(b

Derive the compensated demand functions if utility function
U=g{+g. rtuonline.com 10/7%

e ITAM O U = gf +¢0 B A afirges w1 word w1 freww
(=geaET) wifs

Section-B ( @UZ-H)
Derive the constrained cost minimization conditions of a firm whose

production function and cost are () = f (L, K) and C = LP, + KP,
respectively. Check the second order condition also. 16/12

WO SR WA FE: Q = f(L K) T C = LP, + KP, B fdta = %
i = off Wr" FE

Prove that o and f§ are output elasticity of labout and capital for Cobb-
Douglas production function. 4/3
Tog #ifem 5 wia-o08 SR For 8 o F B 59 o o 1 SeRA eE B |
Derive the long-run cost function from the fiven short nm cost function.

C=00Mg-097+ (11 -kg+ 5K
where g = level of output, k = size of plant.
8/6 rtuonline.com
STEHITETF A FEA

C=004¢-09¢ + (1l =k)g+ 5%

W S ST W S0 S | We g = IWA /W, k = 995 F
HTFERE |

Derive the short-run cost function, if the production function is Cobb-
Douglas. 12/9

% ST FAT Fia-STer B A STl T T P |
Derive input demand functions from Cobb-Douglas production function
when the firm maximises output subject to given cost.

FIA-TTAH UG B H WY T G 1 eI FE W < gg

T T ST SAfuERT W | 16/12
Define linearly homogeneous production function. What are the main
properties of these function 7 4! 3
et T I wer ) ot S 3 wert #wge i
T RAIE ?

Section-C ( @ue-w) rfuonline.com
Differentiate between static and dynamic input-output models,

ﬁwwﬁﬁmm—mmqum 4/3
If technology Matrix (A) and final demand vector (F) are given as :

=

hd(}

. i 2 4
rtuonline.com A= [1 }amf’ [60}

8. (a)

(b)

10. (a)

(b)

Compute gross output for each sector and examine the Hawkins-Simon
conditions for viability of the system. 16/12

=fe T Afgaw (A) 3R (F) At o afew fe R €

40

T Wedleh &7 % T SR Fi O RIS a9 Yonel 1 saera F fau
S5~ 159 iG] ol silg Hhifag |

Given : rtuonline.com

Q,=180-0.75P

0, =-30+0.3P,_ P,=220

then find the ethbnum price. Obtain the time path and interpret it.
16/12

fmgemd :

Q,=180-0.75P,

Q =-30+03P P,=220

ot T Ed F19 SIS | T 09 710 S a0 39 g Etfera

The pay-off matrix of player A is given below :

7 8 4
A=
L3l

Determine the pay-off matrix for player B, if game is two person zero
sum. 4/3
faeret A =1 3-2ie dAfess = wwr & -

7 84
14 72

faerst B =1 3-31T% 9w =iferR, afs €@ @ =afe = am @i

Explain basic feasible solution. 413
ST TS T Sl TS |
Solve the following linear programming problem with the help of

Simplex method :
Maximise : = 6X + 7X,
subject 10 2X| + BX, <17
2X +X, <8
X, X >0 16/12
W&afﬂﬁﬁmﬁi‘aﬁﬁmﬁiﬂwaﬂwﬁmﬁﬁ :
ATFHaq Hifeg tm=6X, + 7X,
wiea 2 2X, + 3X, < 12
2X + X: <3
X.X,>0
rftuonline.com




Department of Economics
B.A. Hons Part - 3
Paper - Application of Mathematics in Economics

Very short type questions

1. Explain the conditions for regular strictly Quasi concave utility function.
2. Define Ordinary demand function.

3. Define Income Elasticity.

4. Define Producer Surplus.

5. Define Consumer Surplus.

6. Explain linearly homogeneous production function.
7. Define an open model.

8. Define close modal.

9. Define Two-person constant Sum game.

10.What is a saddle point solution?

11. What is a simplex algorithm?

12. What is the cobweb model?

13. What do you mean by homogeneous production function?
14.Define Complementary goods

15. define substitution goo;ds.

16.Define rate of commodity substitution.

17. Define marginal cost.

18.Who invented Game Theory?

19.Define elasticity of demand.

20.Explain the concept of income and Leisure.
21.Explain Hawkins-Simon conditions.

22. Define Hessian determinant.

23.Define zero sum constant game.

24.Define Angel aggregation condition.

25. What do you mean by the problem of degeneracy?

98d BIc UPR & Y



1. Fafa  uQ Harft sraqa Suaifiar w1 & fore wraf & Wy &9
2. TIYRUI A GHARIE B! GRHTNT B

3. 31T dd Bl GRHTNT B |

4. Fratar ife=iy &) gRuifdd 3|

5. JUHIT SR DI TRHINT B |

6. AP TU Y YOG IATG BT &1 RS BN |
7. U G Hied &l URYINT B |

8. ISl HIed &I URHINT B |
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Short type questions
1. write equilibrium conditions of perfect competitive firm.
2. write short run cost function for cobb Douglas production function.



3. show the nature of commodity
X1=60-3P; + 2P,
Xz=50-7P;-10P,

Find the Elasticity of Substitution for Cobb Douglas Production Function.

Calculate elasticity of demand if the demand function is 2p = 5/x?

Explain the properties of indifference curves.

If demand function P=10-2X, supply function P = 2X. consumer and

producer surplus in equilibrium.

8. demand function of a monopolist P=100-4Q and total cost = 50+2 Q. Find
the monopolist maximum profit output.

9. Scribe assumption of input output analysis.

10. explain feasible solutions in LPP.

11.Explain multiplier.

12.X if utility function U = X2, X2, and budget equation Y = P;X;+P,X2. Find a
simple demand function for X ;.

13.Define the price elasticity of demand. if price elasticity of demand is 2.75,
interpret it.

14.1s supply function P= 2X+1 and X=3, Find producer surplus.

15.for a given cobb-Douglas production function Q= L %54K%34 where L is
labor and K is capital, verify Euler theorem.

16.Differentiate between Static and dynamic input output model.

17.Write down the elasticity form of the Slutsky equation U= f (g1, g2) And
income constraint as Y= p1q;+p202.

18.Prove that a and b are output elasticity of labour and capital for cobb
Douglas production function.

19.1f the demand function is X= 25-4P+P? and P=8, then calculate e,,.

20.What is the Euler theorem?

21.Find degree of homogeneity in equation:

Z = 8x3+ 2X2Y- XY2-4Y3

No ok

22.Payoff matrix of player A is given. Calculate payoff matrix of player B on
the assumption of zero-Sum game.
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23.Explain the economic meaning of Lambda.
24.State the properties of ordinary demand function.
25. What are the advantages of duality?
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Long questions
1. find optimal commodity purchase given the utility function as U= q;2.9,°
And the budget constraint as g;+ 4q; = 10.
2. solve the following L.P.P.
Maximize Z= 2X1+5X2+7X3
Subjectto  3x3+2x,+4x3 <=100
X+4x,+2%3 <= 100
X1+X+3X3 <= 100
And X1, X2, X3 >= 100

3. Solve the following game

[-2 0 0o 5 3
4 2 1 2 5
A=
4 3 0 3 6
5

4. If (1-A)* Is given below _
1.17 001 0.06 0.28

0.06 102 006 0.02
0.16 023 114 0.10
(031 006 0.29 1.33)

e -y

7
10

5
20

Final demand is - = Find the quantity of the
products.

d=




. Explain the importance of input output analysis in economic planning.

. Explain the component of value added.

Explain the closed Leontief model.

Describe the investment requirements.

. Explain the properties of homogeneous production function in context to

Cobb Douglas production function Q= A L2K®.

10.Derive elasticity of substitution for a cobb Douglas production function
Q= LK>.

11.Derive input demand function from cobb Douglas production function
Q= L%KP

12.1f the utility function of a consumer U= 48L+LY-L?, then find

1) labour supply curve

2) characteristic of labour supply curve

3) elasticity of labour supply curve.

© o N o O

14. Given utility function is U= ;0. and budget constraint is 100- 2q;-5¢, =0
Then find out

1) the optimum values of g; and g3

2) the marginal utility of money or income.
15. Drive the Slutsky equation given utility function as U= f (qi, g2) And income
constraint as Y= P101+P202.

16. Derive the constraint cost minimization conditions of a firm whose production

function and cost are Q= f (L, K) and C= LP,_ +KPx respectively. Check the

second order condition also.

17. Derive the long run cost function from the given short run cost function
C=0.04q% 0.9 g>+ (11-k) g+ 5 k?

Where g = Output and k = Size of plant

18. Given Qg; = 180-0.75P;
Qst=-30+0.3Pw1 ,Po=220
Then find the equilibrium price. Obtain the time path and interpret it.



19. Solve the following Linear programming problem with the help of simplex
method.

Maximize: Z=6X;+7X;

Subjectto  2X;+3X;<=12

2X1+ X, <=8
X1, X2>=0

20. If the Utility function is U=q; g, and 3q;+40,=100, Then calculate the
optimum quantity of gi and g.

21.
(0.2 0.3 0.2] 20 ]
rfarA=|240102 qarc=]|10 12then &
0.1 0.3 0.2 12 |

Calculate 1] quantity of X3, X, and X3

2] Inter industry demand matrix
22. What is the Cobweb model? Explain different conditions of equilibrium in a
Cobweb model.
23. An entrepreneur’s short run total cost function is C= q*-10g%+179+66.
Determine the output level at which he maximizes profit if P=5. compute the
output elasticity of cost at this output.
24. If U= X12X,2 and Y= Py X1+ P2Xj, then find ordinary demand function and
Compensated demand function For X; and X,. Also drive second order condition.
25. Explain the condition of well-behaved production function.
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Very short type questions
Explain the following
1. Economic growth
2. Economic development
3. Capital
4. human development

5. Traditional sector
6. NITI Aayog
7. NDA
8. economic planning
9. Investment
10. Internal rate of return
11. Human Development Index
12. Poverty
13. Unemployment
14. Disguised unemployment
15. Capital intensity
16. Natural resources
17. Per capita income
18. Planning Commission
19. Write down any two assumptions of the Harrod domar model.
20. Surplus labour
21. Balanced growth
22. Unbalanced growth
23. Investment criteria
24. Open Economy
25. Globalization
950 OI¢ YOR & Uy
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21. Tqferd fabr
22. 3r&dfad g
23. [BERIEIBEE]
24. it srferaR
25. defiemRur

Short answer type question
1. Explain any two gains from free trade.
2. Write the main objective of WTO.
3. Explain sustainable development.



4. Explain the difference between economic development and economic
growth.

5. What are the problems of the Open Economy?

6. Explain the evolution of Niti Aayog.

7. Explain the relevance of planning in India.

8. Write 3 as emissions of Ricardian theory of comparative advantage.

9. Explain inclusive growth.

10. What is a vicious circle of poverty?

11. Write the main assumptions of Solow model.

12. Explain the cost benefit analysis.

13. What are social overhead capitals?

14. Explain the direct productive activities,

15. What are impediments to development?

16. Explain the quotient curve.

17. How availability of natural resources is responsible for
development?

18. Write any four indicators of human development?

19. What is export promotion?

20. Write a note on import substitution.

21. Explain the difference between balanced and unbalanced
growth.

22. What is a critical minimum effort?

23. Write down the difference between warranted growth rate and
natural growth rate.

24. Write down the difference between Niti Aayog and the Planning
Commission.

25. Write down the name of any four modern approaches to the

theory of development and growth.
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5.
6.
7.
8.
9

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
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answer type question

Critically examine the measures of development.

Lewis theory of unlimited supply of labour.

What are the causes of economic inequality in India? discuss the
measures to reduce economic inequalities.

Explain the big push theory of Rosenstein Roden.




5. Distinguish between economic development and economic growth.
describe different criteria for the measurement of economic
development.

6. Theories of Balanced and unbalanced growth are not contradictory to
each other but rather complementary. Explain.

7. Discuss the reasons for poverty in India. give suitable suggestions to
resolve this problem.

8. Ciritically examine the Harrod Domar model and explain its relevance
to developing countries.

9. What are the problems of Open Economy and globalization?

10. Critically examine the critical minimum effort theory of
Leibenstein.

11. Describe the harsh main theory of unbalanced growth.

12. explain the concept of investment criteria and cost benefit
analysis.

13. Describe the objectives of Indian planning.

14. Explain the strategy of development in Indian planning.

15. Describe the public investment and financing under plans in
India.

16. Critically explain how planning in India is responsible for the
development.

17. Describe the Solow model of growth and development.

18. Explain the growth theory of Nurske.

19. Explain the impediments to development and their
interconnection to human development.

20. Describe the characteristics of developing countries.

21. Explain the relationship between capital and development.

22. Write down the role of Technology and institutions in
development.

23. Explain the concept of internal rate of return and net present
value.

24. Write down the relevance of development approaches in Indian
economy.

25. Write the short note on following

1). Cost benefit analysis



2). Relevance of planning in India
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Environmental Economics

Very Short Questions

Q1.What is environmental economics?

Q2.What are negative externalities?

Q3.What are positive externalities?

Q4.What is Pareto optimality?

Q5.What is welfare economics?

Q6.Define Climate Change.

Q7.What is Agenda 21?

Q8.What is Sustainable Development?

Q9.What is Global Warming?

Q10.Where was the first Earth Summit held and when?
Q11.What is Emissions trading?

Q12.What is the shape of the Environmental Kuznets Curve?
Q13.What do you understand by Market Failure?
Q14.What are trans-boundary environmental problems?
Q15.What is UNFCCC?

Q16.What do you understand by environment valuation?
Q17.What is Hedonic Pricing method?

Q18.What is Travel-Cost Method?

Q19.What is Contingent Valuation Method?

Q20.Who developed the Coase Theorem?

Q21.State two efforts taken by the UN to combat environmental degradation.
Q22.What is carbon sink?



Q23.What is the relation between trade and environment?
Q24.When was the Brundtland Report published?
Q25.What is Kyoto Protocol?

Short Questions

Q1.Explain the Travel Cost Method of environment valuation.
Q2.Explain the Contingent valuation Method of environment valuation.
Q3.Explain the Coase theorem.

Q4.Explain the Environment Kuznets Curve and also write about its empirical
findings.

Q5.Explain the Hedonic Pricing Method of environment valuation.
Q6.Explain any four trans-boundary problems.

Q7.What is Greenhouse effect and how does it lead to global warming?
Q8.Explain the concept of Sustainable Development?

Q9.Briefly discuss the OECD Environmental Committee Report.
Q10.Discuss any two Pareto-optimality conditions.

Q11.What are the components of ecosystem?

Q12.What are the effects of Air pollution?

Q13.What are the effects of Water pollution?

Q14.Explain the concept of Climate Change.

Q15.What is environmental economics?

Q16.What are positive externalities. Explain with examples.
Q17.What are negative externalities. Explain with examples.
Q18.Write a short note on Kyoto Protocol.

Q19.Write a short note on Earth Summit 1992.

Q20.Write a short note on Earth Summit 2002.

Q21.Write a short note on Paris Climate Agreement.

Q22.Write a short note on WTO and Environment.



Q23.Explain any two measures/indicators of Sustainable Development.
Q24.What are the Sustainable Development Goals?

Q25.Write a short note on Environmental Governance in India.

Long Questions

Q1.What is environmental economics and how is it different from traditional
economics?

Q2.How does the Coase theorem explain the problem of property rights?
Q3.How do externalities lead to market failure?

Q4.What is Sustainable Development? Explain the concept and the goals.
Q5.Explain the Environment Kuznets Curve.

Q6.What is Pareto Optimality and what are its three conditions?
Q7.What were the outcomes of the Stockholm Conference?

Q8.Explain in detail the Paris Climate Agreement.

Q9.What were the outcomes of the first Earth Summit.

Q10.Explain the Hedonic Pricing method of environment valuation.
Q11.Explain the Travel Cost Method of environment valuation.
Q12.Explain the Contingent valuation method of environment valuation.
Q13.Explain the efforts taken by UN to combat environment degradation.
Q14.What is the status of Environmental governance in India?
Q15.Explain the concept of Agenda 21.

Q16.What is the Convention on Biodiversity.

Q17.Explain the relation between Trade and Environment.

Q18.What is the nature and scope of Environmental Economics?

Q19.Explain the concept of Climate change. Write the efforts being taken
globally to combat it.

Q20.Explain emissions trading with reference to Kyoto protocol.

Q21.Write about the consequences of Global Warming.



Q22.What are transboundary problems. Explain with examples.

Q23.Explain the relation between WTO and environment.

Q24.What is OECD. Write about the OECD Environmental Committee Report.
Q25.What is Welfare Economics?



BA 3rd year hons
Public finance

Short answers type

Define Fiscal Policy
Define Direct tax
Define InDirect tax
Give Objective of Fiscal policy
Discuss the economic effects of public debt
Difference between incidence and shifting of taxation
Write the methods or tools of production.
Difference between tax and fees
Write the name of principle of taxation by Adam Smith
. explain the meaning of factor intensity
. Difference between public debt and taxation
. What do you mean by impact of taxes
. Write any two source of public revenue
. Draw diagram of laffer curve
. Write any two characteristics of direct tax system
. Explain the difference between public good and private goods
. Explain the sustainable development
. Write main characteristics of good tax system.
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. Define Public Finance.

. Discuss the nature of Public Finance

. Explain the Condition of Maximum Social Advantage.

. what is zero- base budgeting ZBB ?

. Meaning of Public Expenditure .

. what is direct tax?

. write two merits of VAT

. Define progressive tax.

. Discuss the effect of public expenditure on consumption
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Long answers types

1. Define Nature and Scope of Public Finance.



AW

14.

15.

Discuss Main problem of Optimal Budget.
What do you understand by Fiscal Policy. Give its Objectives.
What do you mean by Public Debt. Give it’s Objectives and relevance.

Discuss the effects of public expenditure on production and distribution.
Explain the theory of Maximum Social Advantage.

What is Debt Trap ?
Trace the significance of public finance in modem time.
Explain the Dalton’s principle of maximum social advantage. What is its significance.

. What is Government budget ? what are the main features of government budgets ?

. Discuss the classical and modern theories of budget.

. What is Deficit Financing ? is it always inflationary ?

. What is the Public Expenditure ? Examine the effects of public expenditure on an

economy.

What do you mean by good tax system ? Explain the major Characteristics of a good
tax system.

What is indirect Tax ? how does it differ from direct tax?



Department of Economics
B.A./B.Sc. Part -1
Paper- Indian Economy

Very short answer type questions

Explain the following
1. Underdeveloped economy
2. Poverty
3. Foreign trade policy
4. Industrial policy
5. Disguised unemployment
6. Economic planning
7. Trade union
8. Economic drain
9. Human Development Index

10. Privatization

11. Subsidy

12. Foreign direct investment
13. Unemployment

14. public sector enterprises
15. Liberalization

16. Agriculture credit

17. Death Rate

18. Inequality in India

19. Globalization

20. Public Distribution system
21. Minimum support price
22. Agriculture Marketing

23. HYV Seeds

24. Disinvestment

25. Write name of any two family welfare programs.



frgfoiad o me &%
1. 3ffaHRIT srfcuawr
2. SRRl
3. facwr &R Hifa
4. 3N Hfa
5. Td SRISHIRI
6. 3Nfde Mg
7. AUR Y
8. 3 Areh
9. W4 famr gl
10. IESIERLI
11. gies!
12. gaef faa=ht fawr
13. SRISATRT
14. s &F & IIH
15, SERESU
16.  HBU
17. g R
18. HRA H 3 GHHd]
19.  fiwrur
20. AW fador yomelt
21.  AdH 9HYA g
22. o faquH
23. HYVEW
24.  faffaw
25. Iz HI T URIR FHeuTl HRIHH ford |



Short answer type question
1. Write any four problems of small industries.

Write any four arguments against new economic policy.

Write a short note on the components of infrastructure.

Explain conventional and nonconventional sources of energy.

Write a short note on land reforms.

Explain the forest resources in India.

Explain the major poverty alleviation programme.

Write a short note on the green revolution in India.

What is the new trade policy of India?

10. Describe the colonial exploitation of India.

11. Give suggestions for export promotion in India.

12. Explain the concept of cropping pattern.

13. Explain the new national Population Policy.

14. Explain the relationship between globalization and Indian
economy.

15. Explain the role of foreign investment and foreign
technology in development.

16. Explain the Agriculture price policy.

© 00N OAWDN

17. give a detail about capital formation in Indian agriculture.

18. Explain the importance of the green revolution in Indian
agriculture.

19. What are the problems with high population growth rate?

20. What is microfinance?

21. Write a note on disinvestment of public sector enterprises.

22. What is the role of FDI in the agriculture sector?

23. explain the land reforms since 1991.

24. What is recent industrial policy?

25. State the condition of power resources in India.
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10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.

Long

Bl I HI Pis H IR IHEN forfau|
T3 3@ +ifd & faams #is ¥ IR a& fafau|
el e & gl IR TH el Are ford|
Solf b JRUND 3R TR-URGNE Jidl &1 RS B |
Y YR W U Gfare Hie ferd |
HURd H 97 J91YH] &1 SRs] HIog|
TRIe S B H & IR H Fdmd|
HRd H gRd wifd R e I Aic ford |
HRd P! 8 ATIR Aifd 7 8§72
HRd & 3Mufafre wor &1 gufe &3 |
YRd ¥ faia miemeg o e gema <
SHITUT Uew! Y SITYRUN B! AR |
TS AP ST I B R FIfSIU|
Jfiervur 3R YR Srfeaawyt & o Jae &l WY B |
fderg  faceh fAaw ok fach uenfie! ot yfteT Wy &3
PV oI Hifd Bl GRS HIfTT|
YR HN H Goit A0 & IR H ok ¥ SHaRT S |
YR $N 1 gRd Hifd & dgd &l g9
3o ST Il &R P 1Y o1 THAE 62
HIZSh IS4 T 57
qraoi-d &7 & IIHI & fAfaY IR T Ale ford |
HY &3 H FDI Bt 31 YfHenT 87
1991 ¥ Y GYRI B! TURAT HY|
ST 1 3fenfiies fa m 82
HRd H fooret dareH! ot fufd sl

answer type questions



1. Comment upon demographic development in India since
Independence and discuss various indicators of human resource
development.

2. Explain the basic features of Indian economy as an
underdeveloped economy.

3. Write a short note on main import and export items in India.

4. Discuss the causes of poverty in India. give suitable suggestions

to solve this problem.

. What are the main features of economic planning?

. Explain the reasons that led economic reforms in 1991.

Discuss the achievement and failure of planning in India.

Describe the composition and direction of India's foreign trade

during the last one decade.

9. Explain the various institutional sources of agricultural credit in
India. Discuss problems faced by farmers in getting finance.

10. What are the main objectives of Planning in India? What
are the main drawbacks of Indian Planning?

11. Explain the sectoral reforms in infrastructure after 1991.
12. Critically examine the changes in the direction and
composition of India’s exports and imports.

13. What are the main Characteristics of population? Explain
critically the population policy of the Government of India.

14. Evaluation the institutional and technological changes that
have taken place in the last twenty years in the agriculture sector.

15. Define Land reforms in Indian Economy and its Progress in
the last two decades.



16. Define importance of Agricultural economics in Indian
Economics. Give its important implications.

17. What is the role and importance of agriculture in Indian
economy discuss the status of capital formation in Indian
agriculture?

18. Explain the role and importance of MSMEs in India.

19. Explain the growth Trends and structural transformation of
national income during plan period.

20. explain the linkage between agriculture and other sector of
the economy.

21. what are the sources of institutional credit for agriculture?

22. Explain the industrial policy in pre and post liberalization
period.

23. describe the growth Trends and review of industrial growth
under planning.

24. explain the policy Trend and impact of FDI in Indian
economy.

25. Write a short note on following

1). privatization and economic reforms

2). labour relations And Labour policy

@d R UPR & Uy
1. WdFdT & 9l ¥ YR & SHgiRTe 1T e wR fewuft 3k Amg
Tare faerg & fafire Gohdo! TR T=] B
2. JfapRa orfogaen & w0 # YR Srfogaril &t gHamc!
ICEILRIRIEAREEIRY
3. HRd § g7 Mg 3R Fafd aegsii &R te dféna Fie ford|




4. HRd ¥ TRI6 & HRUT IR I B | Y AT DI 8 B & ¢

SUgad gIa < |

. 3nfifer fraem @t qRor faRiwamy g2

. 1991 H 3T GURI BT Add B dTcl HRUN B TRAT B |

HRA H oMl &t SUdf 3R fAwerdr uR == &3 |

. Oed T F & ERME YR & ey SUR ot I==1 3R fzm

BT U B |

9. YRd T Y B & fAfia JRINTT Fdl Bl AR DY | fHaHl &l
o U A H 3 arelt wHErelf R =i B

10.  HRd ¥ FAoH & Jo7 3= |1 82 YR il &1 §&
STl T 872

© N O Ul

11. 1991 & §1¢ gi-A1d! ¢id H &A1 YURI & IR § amd|
12. YR ¥ ¥ YR & Fafd R smard &) fa=m ok W= |
gRad= 1 Sl B |

13.  SFOSAT & BT AU 1 82 THR U ¥ URd IWHR Bi
SAGAT HIfd B ARAT DA |

14. oY & U Ua 99 au H YRINFTT 3R dh-id! URdd-l &l
T |

15. YR sidomawn & Y gurR 3R fUaa 3 exre! # 39!
Uit |

16.  HRAW UURA ¥ HNY R & Aga I uRUINT H1|
s Agaqul Algard S




17. YR fouaer # HfN B} yfiyer ok ded @1 8, YR
S 7 goit fAaior &) fufa = ==f Hd Bl

18. MR ¥ THTUTHS &t YUHT 3R Aed DI THI |

19.  JioMT @AY & GRME AP M & 9P & IIH R
RTATHS TRac o1 AT B |

20. BV SR AR & 3T &F & oid A& P AR Pr |

21. PP U RN BT & Ad R ¢

22. JCRIBRU & U 3R 918 Bt 3afyr & sienfiies ifa ot uram
Gy

23, BT & g 3R IS & dgd 3N f[Jwrg ot gHten
&1 JUH B

24. YR ST T THSISATE P AIfd B! UGy 3R THIG &t
T B |

25.  Fafafed Rt sier dfénd e ford
1) | foieur 3R s gur

2)| ) ey 3R o5 Hifa




Department of Economics

Micro Economics, (B.A. Part 1)

Very Short Questions

1) Distinguish between positive and normative economics
2) State any two uses of the study of microeconomics
3) Give the meaning of production function

4) Distinguish between cardinal and ordinal utility

5) What is an indifference map?

6) Distinguish between increase and extension of demand.
7) What is opportunity cost?

8) Differentiate between a firm and industry.

9) Given the meaning of selling costs

10) Define quasi rent.

11. Define a budget line.

12. Define cross elasticity.

13. Define Substitutes goods.

14. Define complementary goods.

15. Write four factor of production.

16. Give the meaning of the term equilibrium.

17. Define Liquidity Trap.

18. Define Isoquant.

19. Define price discrimination.

20. Define Demand.



Short Answer Questions

1. Graphically explain the economy’s production possibility curve in terms of economic growth.
2. Explain various types of price elasticity of demand with the help of diagrams.

3. Describe the two conditions necessary for attaining equilibrium for a firm in the short run.

4. Discuss the conditions of price discrimination under monopoly.

5. Explain the risk theory of profit.

6. What are the diseconomies of scale? Explain with illustrations.

7. Explain the implications of freedom of entry and exit of firms under perfect competition.

8. Explain why an indifference curve is convex to the origin?

9. Explain the condition of equilibrium of a firm based on marginal cost and marginal revenue.

10. Distinguish between an inferior good and a normal good. Is a good which is
inferior for one consumer also inferior for all the consumers? Explain.

11. Differentiate between law of demand and price elasticity of demand.

12. What is income elasticity of demand? How do we measure it?

13. Explain excess capacity under monopolistic market.

14. Explain the theory of diminishing marginal return.

15. Prove that ep = ArR/AR-MR

16. Explain the relationship between short run average cost and marginal cost.

17. Write main characteristics of monopolistic competition.

Long Answer Questions:

1. Explain the difference between statics and comparative statics. Provide examples of these
two types of analysis from microeconomics.

2. Explain the concept of income effect. Substitution effect and price effect with the help of
indifference curve.



3. Compare and contrast the marginal utility approach with the indifference curve approach in
understanding consumer behavior.

4. State and explain with suitable diagrams the law of demand. What are the reasons for the
downward slope of the demand?

5. How does the producer attain equilibrium under the iso-quant approach?

6. Discuss the role of time element in the determination of price and output under perfect
competition with the help suitable diagrams.

7. Explain the liquidity preference theory of Interest.

8. State the conditions of consumer’s equilibrium in the Indifference Curve Analysis
and explain the rationale behind these conditions.

9. Explain the concept of price elasticity of demand and examine the various method
s of its measurement.

10. Explain critically marginal productivity theory of distribution.

11. How is the price of a factor determined when there is perfect competition in the
perfect market as well as in factor market?

12. Explain the following
a) consumer Surplus
b) Micro and macro Economics

13. Discuss the modern theory of rent. How it is different from Ricardian theory of
rent?

14. Explain the three stages of production. Why is it that third stage of production is
considered most relevant stage for factor use in production?

15. Examine critically Ricardian theory of rent.

e fIHTT

& ST, (B.A Part 1)
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1) GHRIAD 3R UHIUS JdIRa & i 3fdR &3

2) QEIHIRIRE & AT & gl & ST BT Jeai @ Hifod
3) IATEH Had &7 7Y ga1gu

4) HITSTA 3R S a gfefadt & di iR B

5) JSTHTdT AT &1 82

6) AT H 3f iR fTaR & 9 sfax FI |

7) 3aYR AT T 82

8) U HH 3R I & oI 3far &I |
9) farg anTdl & 31 ®I TWd g

10) 3f¢f fopTT @t TfvyTem S|

11. §9I¢ Y@ &1 GRYIT BT

12. 19 A1 1 GRYIT B |

13. YT 93 1 yRUTNg SISy |
14. QX g3l BT aiRyTeT Sifa|

15. IATET & IR RSP [T |

16. gad ug &1 3 Q|

17. AT ST D1 URYUTT BT
18. 3THIHT BT TRUTT B |

19. Y HEYTd &1 uRYTid o1 |
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1. e fawrg & ded A srdfcggwr & IAET FHTTAT I% &1 s =U I
TRSAT B |

2. 77 ®1 HIHd did & AN BRI &1 IR\ &1 Fgradl T JAHTST|

3. AP H TP ®BH & AT A UTd A & AU snags a1 wrdf &1 qufq
BT

4. THTYDHR & Hqtid Gd faues o1 xdl &1 fada=1 sifra|
5. @1H & SNgH RIgid 1 AT & |
6. 0HTA > fagfaal o 82 evidl & 91Y Wy Hifvu|

7. guf gfqaifiar & sfaid wAf & uadw SR e & Wdaar & fAfgardf
T>AT BT

8. W HIfY & Te AT a% qa fag & 39 i giar 82

9. THTT AT SR HHid M & YR W TH BH & Aqa- &1 fRufq &1 srean
DI

10. U °fedT 3R YTHMT 3 & 9 3fdR &3 | 1 98 9% off U IuHladl & forg
g9 g 3R gt Iuviadrstt & forw €19 82 I\

11. 717 & 999 3R 7i7 &) S1Hd g 7 3fd3 WY B

12, ISR TR A BHT BT T HH RN gidt 82 IHSTTI
11, HITT Bt 1T AT AT 82 §H 58 4 ATUD 82
12. THIYST TR & 3fdria rfaflkad &mar &1 sarsa Sifvu|

13. BTHTE HHTd Ufawd & RIgid o1 AT B3 |

14, g ®IfT fo Tdt = TIR/TIMR-THINNR
15. (TBTA 3T ANTd 3R Haid ANTd & g Sy WY HIfU|
16. THTYSR Ufaaifrar &1 yq@ fagvan fafeu)
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BA / BSC part- 2
Economics
First Paper
Introductory Macro Economic

Very Short and ShortType Questions(31fc g T
RIS FeT ): -

(1) What is macro Paradox?
FATSCITT TAUTHTH .31 872
(2) What is a liquidity trap?
LI STl T 872
(3) Explaln the dependent variable and independent variables.
QAT T dYT FGdT T GASST|
(4) What are transfer payments?
BEATCRUT 8T T AT T 87
(5) Whatis a speculatlve motive demand?
Hel T HEeT 3ee T AT AT 87
(6) What do you mean by net banking or online banking?
e SfeRaT 3r2rar TS dfeheT & 39 FIT FHSIA 87
(7) What is repo rate?
9T &Y FAT 82
(8) What do you understand by demonetisation?
fAFERTOT & 3T AT FHSAA &7
(9) Explain the term NNP at factor cost.
TTEA AT W [ TS 3cUTe FHSST|
(10) Explain average and marginal propensity to consume.
39T T AT IR WATT YT T FTAIT FATST
(11) Define velocity of money.
Hel &l Telel J3T THASTSY]
(12) Explain the main Instrument of monetary policy.
Aifesh A & @ 36T A TaEY|

(13) Explain the primary functions of money.




Hel & A Sl S THASIS]
(14) Name any 2 new classical macroeconomists.
ar oTd FeATlehdl ATSE 3AAETAT & AT TA1BT|
(15) What is marginal efficiency of capital?
QoiT T TATA a7l F4T g7
(16) Explain high powered money.
3T AT UTeT FGT T THSTST
(17) What is liquidity preference?
AeTdT qHE3NT T 872
(18) Differentiate between M1 and M3.
M1 daT M3 #H 3] 9137
(19) What is the paradox of thrift?
I aTeTHTE T 82
(20) Explain Pigou’s equation of quantity theory of money in cash balance
equation.
Hel o IRATT RAceid & 919 THFROT & sTehe; AT FHIRIOT I HASTST|
(21) What do you understand by SLR?
T Ul 3R & 319 3T THASTA 67
(22) What are the main determinants of components of money supply?
Hel Iicl & Hoeeh & G7E [een ded i @ §72
(23) What are stock and flow variables?
Teish 3R garg @R F AT 872
(24) What is an investment multiplier?
fafaraaT IroTeh T 872
(25) Differentiate between bank rate and rate of interest.
doh &3 TT TS &Y H 3R §d187|
(26) What is say's law of the market?
“Q” T STTR T ITH F7 82
(27) Explain the main difficulties in measurement of National Income.
TSERT 3T I0TAT T T HISATSAT T FHASY
(28) Explain the meaning of autonomous investment and induced investment.
Farge fAaer aur 9Ra g & 3127 & gHssy|
(29) Explain the difference between CRR and SLR.
CRR dUT SLR & 3{cX §d18U|
(30) Differentiate between multiplier and accelerator.




I[UTeh JAUT caeh H 3R THSSY
(31) What is Reverse repo rate?
Rad Wrex Farg?
(32) Explain Input - output accounting.
31T 9T ol@TeheT § 31T FIT THSI g
(33) Write down about the function of RBI?
3RET3TS o 1Y FAT g2
(34) What is Stagflation?
IMfeleT THITT T 3T T THSTA 872
(35) What are the instruments of monetary policy?
Aifgeh Nfd & 30T IaTST|
(36) What is expansionary monetary policy?
foraie Aifgs Afa Frg?
(37) What is the role of monetary policy in a developing economy?
faepraeiier 3rdegaear # Hifgeh Afd S ${fHHT sy
(38) Explain types of business cycle.
STIR ThT & TR FIT &7
(39) Name the phases of the business cycle.
SITIR dsh T GTAT3IT & I1H Sd1ST|
(40) Write down the measures to control trade cycle.
SIIR dsh Pl AT el & 3T dd18U|
(41) What are the importance of macro economics?
FATSE 31AET T AT H FIT Aged g2
(42) What are two - sector models?
ar &y Afser T §?
(43) Explain types of money.
Hel o JhR TS|
(44) What is money?
Hel FT 87
(45) Differentiate between money and near money.
el T folehe HaT # R ISy
(46) What is the meaning of value of money?
el o FHod 1 &1 37T g7
(47) What is the similarities between transaction theory and cash balance
theory?




deTee AU auT Fndl QY fAcHid # AT GHTT 872
(48) What is the meaning of money supply?

a1 9 A AR A
(49) Write down the determinants of money supply.

Hel Iid & e dea adrsy|
(50) What is a money multiplier?

Hell I[0Tieh T 87

Essay Type Questions( fA&tcas a21): -

(1) Critically examine Fisher’s quantity theory of money.
ftheR o HeT IRATUT RAcEid T TelleTcHS cITEdT HIT|
(2) What is money inflation? Distinguish between Demand pull inflation and cost
push inflation.
HAEHITC T 52 AT 9RT TR TUT of1ered IR THTT H 3R T Iy
(3) Explain the following: -
faefaf@a #r gasmsT: -
(a) State 2 assumptions which are the same both in classical and
new-classical macroeconomics.
ar Oy AT SATST S o FolTf@ehdl g 579 Fellidehel GHSE 372TET ST
H FATT g
(b) Contact Compare the equation of exchange with the Cambridge
equation.
HieT FHHIOT Y JolelT SHisiet FolenoT & AT
(4) Discuss the role of monetary policy in promoting economic development
price stability in India during the past two decades.
3T &Y Gerehl H HRd & 3T faera ta $Hrad Eudr & gerar ¢ & fow
A N 1 syfva A1 g S
(5) Write short note on the following: -
fAFfaf@a w gfgicg feouoh faf@u: -
(@) Quantitative credit control
(b)  Objectives and instruments of fiscal policy

TSRS A & Seged T A




(6) Explain the complete classical model of employment and output with the
help of equations and diagrams on what grounds has it been criticised by
Keyens?

ST 3 3cUTee o HYUT HTATSSA HISel bl HIEUIT d I@TTHAT ! Hgral &
AT et HROT & Fha o SHRT Tl 7 3|
(7) Explain this “Are saving and investment always equal in Keyens model of
output and employment?”

FIAT TFT & 3cuTcsT 3R ISR & Alsd H 90 3R [F32r g e gid &7
HASTST|

(8) Discuss various methods of measuring national income.
TSET 3T T AT T affeet afat $r faaa=r Hifav|
(9) Explain the following: -
IGEDICITCGETRIE I FAU
(@)  Fishers quantity theory of money
foheR T AT TR&ATOT fAeErd
(b)  Different measures to control inflation
HaehItd 1 AT et & 301
(10) Explain the doctrine of the multiplier Critically.
I[0TTeh TACIT i TeiTdelicHe earedr HfAv|
(11) Explain and state Keyen'’s psychological law of consumption and bring out
its implication.
foRa & 3TsIeT Tael Addfash RAHTd Sl THSIST dUT $H feifed dcal T
SgTEdT HIfST|
(12) Explain the following: -
IGEGICITCEEIRIEE I EAU
(a)Instrument of monetary policy.
Ao AN & @ 36T T a8y
(b)Functions of commercial banks.
SATITRe Sl & T
(c)Multiple Credit Creation.
el arg fAsor
(13) Explain the cash balance approach of the quantity theory of money. In what
respects it is superior to the cash transaction approach given by Fisher?
Hel TRATVT AT & wTehg AT TTOChIUT hi SITET HITSTT| Tg Tehel TgeI3iT
o TR garT ufauried e caaarT TieeehIvT & 98k &




(14) Enumerate the main characteristics of underdeveloped economics which
Render keynesian theory of income and employment inapplicable to such
economics

37¢ A fad rdeaaeun3it i g [AATAI 1 Sea@ HITST e HRoT
ferel 2T 31T Te USTTR TG 3eT W) of1a] o181 81l &
(15) Describe the functions of the central bank in the context of The Reserve
Bank of India.

AR NS1d o & T H FGIT oo & ST T a1 Hifag|
(16) Discuss the Keyne’s psychological law of consumption. Explain the
subjective and objective factors that determine the consumption function.

g & 39T & ARSI $H A= FIfST| 3THET Feole i ganfaa
Y dTel cATFcIsh TF TEGIT PR hl SATEAT SHITIT|
(17) Describe the classical model of production and employment. On what
grounds Keynes has criticized this theory.

3cITGsT T AT & IR 1) Fgenid i sarear Hifore| fora oF fnet 3memy

W 38 TAeHTd T 3Tl 6 |
(18) What are the objectives of a monetary policy for a developing economy?
Critically examine monetary policy during the last two decades.

T Tqehraeiier srdiegaedn # Aifge Aifd & 31 3¢aT 8l 82 I &F G H
R 1 Fifge siifa P ATeidedcds AT Hifaiv|
(19) Explain the nature, scope and limitations of macroeconomics.

AT YA T AT 817 Aged R AATHT Fr sgrear fHfaw
(20) Differentiate between micro and macro economics. Explain the transition
from microeconomics to macroeconomics.

TS 3R gATE 379eT # $ig HIfarv| cgfee 37AET FATSE AT 7
TehaT0T T SATEAT HIfTy|
(21) Explain the concept of national income and methods of its measurement.

TSERT 31 hl TROTU U9 AT i f[aferar gastsy|
(22) Explain the main determinants of money supply?

Hal Iicl & Hoeeh & GH7E [Hen dedl i GHssy|
(23) Describe the importance of national income analysis. What are the
problems and limitations of measuring national income analysis?

TSERT 3T TARRINUT o AGcd ohl THSSU| ISEIT 31T o AT H hiSATS AT

AT HATIT &l IS8T




(24) Explain the circular flow of income. Explain the circular flow in Economics
income with the help of the diagram.
31T & TP YaTg T 39 FIT GHSTA &2 Ueh TIITTAT H 3T & IhiT YdTg
T STET HITSTT T =T F1 93T 3 HifSg]
(25) Explain the following: -
faefaf@a ar gasmsT: -
(a)Role of accelerator as a theory of investment
caeh &1 f1aer FagUTd & &9 H &
(b) Investment Functions
fIaer weret




Department of Economics
B.A./B.Sc. Part2

Paper 2(b) - History of Economic Thought

Very short answer type questions

1. What is the theory of surplus value?

2. Give any two characteristics of mercantilism.

3. Define physiocracy.

4. What is the consumer surplus?

5. Define foreign trade.

6. What is invisible hand doctrine?

7. Name four features of Marxism.

8. What is the Drain Theory of Dadabhai Naoroji ?

9. Write the thoughts of Kautilya on the welfare state.
10. Define Marginalism.

11. National School.

12.Write any two books of Pandit Nehru.

13. What is the object of Gram dan?

14.What is the theory of decentralization?

15. What is the concept of division of labor?

16. What are internal economies?

17. Who was the founder of “Servant of Indian society”?
18. What is Economic Socialism?

19. What is integrated humanity.

20. give the theory of economic evaluation by Marshall.
21. give any two characteristics of mercantilism.

22. what was the base of wealth and power according to mercantilism.
23. explain the meaning of marginal land according to Ricardo.
24. What is the theory of surplus value?

25. Explain the theory of consumer surplus.

98d U W UPR & UY



SRRy Yo 7 Rygiad T 872
AMURIAIG ! ®ig &l fa=IdTg ¢ |

IRING Ahdd Bl TRUTNT B
JUHTT IR T 82

fge=ft IR &1 gRyIid &L

. 3EY g1y Rigid | 82

ATedare ot IR fagvaraf &1 9F 9digu|

. TIGTHTE RIS T S @R 1 37

. HABRT AR IR Hifecd & foar forkau|
10. BTRIT &) gRYIRT w3 |

11. =M R |

12.Gf&d 8= &1 dig U &l T [Aiag|

13. MG HT I AT 3|

14 faF i &1 fRigid | 82

15. 31 fAUTSH &1 SITYRUT T 87

16. 3MTdR® 3rfcaa®ITy o1 87

17. "HRAN U & g™ & GRITIS HIF U?
18. 3 THTSIATE T 82

19. Uh1pd HFadl 1 82

20. AIRIA gRT 3Tifes Heid o1 Rigid < |

21. ARIAIE &1 HIg &l fadg ¢ |

22. TR & AR 8 37R o BT YR FT AT
23. RSl o SR Wi YfH &1 37 wHemy|
24. SR Yog o1 RIGid 1 82

25. IUHIFT AR o Ry ol RS R |

© © N oA wN e

Short answer type question



Explain price determination according to Marshall.

Write a short note on Adam Smith's contribution to economic thoughts.
Explain Ricardian theory of profit.

Was Sismondi socialist? Explain.

Explain Sarvodaya thoughts of Gandhiji.

Explain Dadabhai Naoroji thoughts on Railways.

Give the theory of economic evolution by Friedrich List.

Explain the theory of gluts.

Explain the difference between market price and natural price by Adam
Smith.

10. Compare the ideas of Malthus and Ricardo.

11. Compare the ideas of Malthus and Keynes.

12. Explain the theory of distribution by Ricardo.

13. Explain the philosophy of Marx.

14. Write down the critical appraisal of Marxian philosophy.

15. Explain the concept of Quasi rent.

16. Explain the Sarvodaya plan of Gandbhiji.

17. Explain the features of Utopian socialism.

18. Give a detail about Owen’s Social Experiment.

19. Define law of demand.

20. Explain Ricardian theory of profit.

21. Explain the concept of utility.

22. Explain the factors affecting Malthus theory.

23. Briefly discuss the social Economic background of the rise of physiocracy.
24. Explain the say's law.

25. Explain the Mill's view on the role of state.

©CoOoNo O~ WD E

Y SR UPR Y

1. AR & TR Jed MR &t e &1

2. 3 foaRl A TeH 7Y & anTe™ R Ue dfdng fewoft ford |
3. oY &1 Rap1feaq Rigid Wy Sifow|
4
5

. g1 RSt gaTeTardt 92 & §R H 9ard|
. Tiefiolt & Jatey foaRT B s HIFTT|



6. GIGIHTS AIRIST = YaId o aR H §am|

7. IR fore gR1 onfdfes fab o1 Rigid €

8. TICH & Rigid &1 ARSI D1 |

9. TSH Y gRI IR o4 3R Whided Jed & s 3Rk WP B |
10. HIIN 3R Rpref & faaR| &1 ga1 s |

11. AT 3R &1 & [GaR] & ga-1 Hr |

12. RP18f GRT fadRur & Rl &1 sare S|

13. AT o GRI & RS HITo|

14. HIRIATE! G & SMTArATHS Hedidh $I AR |

15. B! fhRTU DI STURTN BT GV

16. TS @1 Gdied AT B RAT BIfoTT|

17. IO GHISTATG i fARISdTY SISy |

18. 3f1dT o ATHINSID TANT & aR H f[adR I STHeRI ¢ |

19. T &b BT DI TRUTIT B

20. A D1 Rep1iSa Rigid wy sifor

21. SUGIAAT B SAYRUN B GHIART|

22. AT RAGId &1 gHTidd 3 aTel HRDI D1 ARSAT B |

23. J&T T RIS Abdds & I¢d B Ao AT gEYH R 7] H1|
24. HgA D1 99 WY HiforT|

25 3159 B YHHT R i & DD bl WY B |

Long answer type question

1. Explain the Malthusian theory of overproduction.

2. write down the difference between mercantilism and physiocracy.

3. critically examine the Ricardian theory of distribution and international trade.
4. Critically examine Karl Marx theory of economic development.

5. Explain the important ideas of robot Owen.

6. Explain the economic thoughts of J. S. Mill.



7. Write an essay on the contribution of Mahatma Gandhi to economic thought.

8. Explain the economic thoughts of Dadabhai Nauroji.

9. Explain the theory of population by T R Malthus.

10. Explain the theory of rent by David Ricardo and the more generalized concept
of rent as it appears in modern economics.

11.Explain the efforts of Karl Marx at scientific socialism.

12. Explain the economic ideas of J K Mehta.

13.Explain the theory of capital accumulation and crisis by Karl Marx.

14.Give a detail about German historical School.

15. Explain the economic ideas of Deendayal Upadhyay.

16.Discuss briefly the ideas of Adam Smith Naturalism and Optimism.

17.Discuss the factors which influence the economic ideas of J. S Mill.

18.Describe Marxism socialism. In what sense is it called scientific?

19.Compare the economic ideas of Mahatma Gandhi with the doctrine of
communism.

20.Explain the Marxian model of economic development with critical evaluation.

21. Describe the economic ideas of Marshall.

22. explain the main features of Indian economic thought.

23. examine critically the principle of Gandhian School of economic thought.

24.Discuss the social economic background of the rise of physiocracy.

25.“The analysis of the circulation of the net product between the different
classes of society from the most spectacular part of physiocrats’ doctrine”.
Explain.

Wd IR UPR BT UY

. SRS AR o AR Rigid &1 sare &1 |

2. URIATG R Wfdedrg & st & 3faR ! fafeu|

3. TR ¥U Y fIaR0r 3R SIRRIPI HAMUR & Aghifea Riid o1 St
Gy

. 3T fasm & HTdt AT Rigid 3t AT S &0 4 Sid B |

. EIE 3iaq & Agdqul [daR| & ReT He |

. Sy o 31es ARl &t sare w1 | i |

|

o 01 b~



7. 3 faaR gere it & TrTe™ W U ey ford|

8. GIGIHTS RIS & AT faaRl &1 et HIfoe |

9. IR HTIY gRT SIHREAT & Riegid B ARSI e |

10. 3fas b1l gRT fpvTT & Ry 3R sy srefwma # faars 24 o
fhRTT 1 AP d YR &l Y B |

11,99 FHTSIATG H HTel AR o TITH! B SRe B |

12. S Hgdl o 311 Rl &1 sare S|

13,7 HIHY gRT YT ¥9g 3R Gave & Rigid o IR 3 |

14,574 UfgTRI® ¥od & aR H faaR 3§ STHHRI €|

15. ST SUTEH o 31T [qaR] &1 saRe BT

16.USH 7Y U iarg 3R RImale & fGari W d&g & 7= $1 |

17,37 HRS| W 991 ®x ol of | T | Fd & 3 foarl &1 guifad #d §

18 . HIGIATG! JHTSIATG 1 9uiH & | 39 fohd oref & a1 &gt SiTeT 82

19.TIATG o RIGId o A1 TRTeT Tieh o 31 s faari & gan e |

20. ATIAESD e b 1Y TS f[Ahr & ATRIAIG] Aled B ARl
DIt

21. A=A o 3N1fes faaR] &1 aui= H |

22. YR 3Tfdfep faaR &1 g fa=ivdrsii & aare &1 |

23. 3N faaR & Tidfiard T@a & Rigid &1 7R =0 9 g s

24 IHATATG & 3G DI ATAINIS 3IH EHH W =i B |

25" forIhed o RIGId & Ty YUFER TR I JA & fafia ol & s
G IS & YIR BT fdRAT0r | &b IR H Fd|




Department of Economics
B.A./B.Sc. Part - 3
Paper - Application of Mathematics in Economics

Very short type questions

1. Explain the conditions for regular strictly Quasi concave utility function.
2. Define Ordinary demand function.

3. Define Income Elasticity.

4. Define Producer Surplus.

5. Define Consumer Surplus.

6. Explain linearly homogeneous production function.
7. Define an open model.

8. Define close modal.

9. Define Two-person constant Sum game.

10.What is a saddle point solution?

11. What is a simplex algorithm?

12. What is the cobweb model?

13. What do you mean by homogeneous production function?
14.Define Complementary goods

15. define substitution goo;ds.

16.Define rate of commodity substitution.

17. Define marginal cost.

18.Who invented Game Theory?

19.Define elasticity of demand.

20.Explain the concept of income and Leisure.
21.Explain Hawkins-Simon conditions.

22. Define Hessian determinant.

23.Define zero sum constant game.

24.Define Angel aggregation condition.

25. What do you mean by the problem of degeneracy?

98d BIc UPR & Y



1. Fafa  uQ Harft sraqa Suaifiar w1 & fore wraf & Wy &9
2. TIYRUI A GHARIE B! GRHTNT B

3. 31T dd Bl GRHTNT B |

4. Fratar ife=iy &) gRuifdd 3|

5. JUHIT SR DI TRHINT B |

6. AP TU Y YOG IATG BT &1 RS BN |
7. U G Hied &l URYINT B |

8. ISl HIed &I URHINT B |

9. Gl-Hfad AR TN WA &I URHINT B |

10.U% HI31 fofg THIYM F1 82

11. U Fymciey Tanie a1 82

12. HI9d AISH T 82

13. GO I THRIE I TP T THURT 82
14 QR T3 D1 URUIT B

15, GRHTST TfT=ITIT goolds|
16.pHIfSE! UfARITIA &1 &R ! GRUIIT B |

17. SHId AT 1 IRUTRT B |

18.719 AR &1 3ffashR fopaH fban

19. 77T &1 A &l IRHTNT B

20,3119 3R 3RTH B RN & TR B |

21 Blh~g-Tr3H &} [RYUfT Ty |

22. RIEA MRS & gRHINT B9

23,3 AR AR 11 &1 gRYT™ 61|

24,09 ThAHRU B! FRUMT B aReHTNd B |

25, Ud &1 JHWT T 30T T U 82

Short type questions
1. write equilibrium conditions of perfect competitive firm.
2. write short run cost function for cobb Douglas production function.



3. show the nature of commodity
X1=60-3P; + 2P,
Xz=50-7P;-10P,

Find the Elasticity of Substitution for Cobb Douglas Production Function.

Calculate elasticity of demand if the demand function is 2p = 5/x?

Explain the properties of indifference curves.

If demand function P=10-2X, supply function P = 2X. consumer and

producer surplus in equilibrium.

8. demand function of a monopolist P=100-4Q and total cost = 50+2 Q. Find
the monopolist maximum profit output.

9. Scribe assumption of input output analysis.

10. explain feasible solutions in LPP.

11.Explain multiplier.

12.X if utility function U = X2, X2, and budget equation Y = P;X;+P,X2. Find a
simple demand function for X ;.

13.Define the price elasticity of demand. if price elasticity of demand is 2.75,
interpret it.

14.1s supply function P= 2X+1 and X=3, Find producer surplus.

15.for a given cobb-Douglas production function Q= L %54K%34 where L is
labor and K is capital, verify Euler theorem.

16.Differentiate between Static and dynamic input output model.

17.Write down the elasticity form of the Slutsky equation U= f (g1, g2) And
income constraint as Y= p1q;+p202.

18.Prove that a and b are output elasticity of labour and capital for cobb
Douglas production function.

19.1f the demand function is X= 25-4P+P? and P=8, then calculate e,,.

20.What is the Euler theorem?

21.Find degree of homogeneity in equation:

Z = 8x3+ 2X2Y- XY2-4Y3

No ok

22.Payoff matrix of player A is given. Calculate payoff matrix of player B on
the assumption of zero-Sum game.



7 5 -4
A = 3 .2 1
1 4 3

23.Explain the economic meaning of Lambda.
24.State the properties of ordinary demand function.
25. What are the advantages of duality?

T UPR & Y
1. gof ufaeaeff wd ot Iqa- ordi & ford|
2. PId ST IATGH function o eI &Y I AT function ferd |

3. SIS P Upfd fawmn
X1 = 60-3P1 + 2P2
X2 = 50-7P1 -10P2

4. DT ST IdTG function P [eTT UFTRITIH &1 I &1 gal Tl |
5. TG ARTGaRM 2p = 5/ x2 §, Il A & A &1 TUMFT B3
6
7

. SERIHdT gedl & 70N &I ARAT B |

. Tfe AT =M P = 10-2X §, Y MY o= P = 2X | Tga H SuHTeT
3R SdEH IR

. TP UHNIBRATE! P = 100-4Q 3R & AN P HIT function = 50 + 2 Q.
THTIBR HAHIH ATH I BT gdl |

9. YT 3Hr3cYc faRavur &t 4rRor ford |

10. TS H GHT THTYT &1 R DX |

11.7[0Teh | SURHAT BT

12.X Ife; ITNAET HaRM U = X21 X22 3R §9ic JHIGIUT Y = P1X1 +
P2X2 B 1 T 1 & foTl U TTeRU1 AT ok g |

oo




13777 &1 B1Hd a1 DI IRHINT B3| afe SHHd A Bl AT 2,757, O
D! AR PR |

14.&ﬂ'q;ﬁfunctionP=2X+ | GﬁTQaﬂ=3 %,%THWWWWI

15.0% QU U PHI9-STe IddTG function & o1 Q = L 0.64K0.34, STgi L
4 g 3R K USN 8, IR U9 ol JATid B |

16.RR 3R Tf=fta $7Ye 3M3cye Afsd & dd 3R Hr|

17.Slutsky JHIBRUT U = £ (q1, q2) 3R A T DI Y = plql + P2q2 P =T
7 ford|

18.R9 3 [ T SR & HI9 STTAY TG function & AT 47 3R Uoit &
33y A g |

19,77 AN Wa—M X = 25-4P + P2 3R P = § B, I AT &1 U B3 |

20. R UHYT 1 82

21 B0 H gHR=yd] &1 fe ured -
Z = 8x3 + 2X2Y- XY2-4Y3

22 TSt A H1 UaTH AR faar a1 § | a-99 719 & RO R e
&1 & Sferat Afeed & 0T B |

7 S -4
A - 3 . 2 1
1 4 3
23.7%el T 3 3 garsu]|

24 HIYRUI HiT YR o 01 HI FdTd|
25. 58 & T BIIS g2



Long questions
1. find optimal commodity purchase given the utility function as U= q;2.9,°
And the budget constraint as g;+ 4q; = 10.
2. solve the following L.P.P.
Maximize Z= 2X1+5X2+7X3
Subjectto  3x3+2x,+4x3 <=100
X+4x,+2%3 <= 100
X1+X+3X3 <= 100
And X1, X2, X3 >= 100

3. Solve the following game

[-2 0 0o 5 3
4 2 1 2 5
A=
4 3 0 3 6
5

4. If (1-A)* Is given below _
1.17 001 0.06 0.28

0.06 102 006 0.02
0.16 023 114 0.10
(031 006 0.29 1.33)

e -y

7
10

5
20

Final demand is - = Find the quantity of the
products.

d=




. Explain the importance of input output analysis in economic planning.

. Explain the component of value added.

Explain the closed Leontief model.

Describe the investment requirements.

. Explain the properties of homogeneous production function in context to

Cobb Douglas production function Q= A L2K®.

10.Derive elasticity of substitution for a cobb Douglas production function
Q= LK>.

11.Derive input demand function from cobb Douglas production function
Q= L%KP

12.1f the utility function of a consumer U= 48L+LY-L?, then find

1) labour supply curve

2) characteristic of labour supply curve

3) elasticity of labour supply curve.

© o N o O

14. Given utility function is U= ;0. and budget constraint is 100- 2q;-5¢, =0
Then find out

1) the optimum values of g; and g3

2) the marginal utility of money or income.
15. Drive the Slutsky equation given utility function as U= f (qi, g2) And income
constraint as Y= P101+P202.

16. Derive the constraint cost minimization conditions of a firm whose production

function and cost are Q= f (L, K) and C= LP,_ +KPx respectively. Check the

second order condition also.

17. Derive the long run cost function from the given short run cost function
C=0.04q% 0.9 g>+ (11-k) g+ 5 k?

Where g = Output and k = Size of plant

18. Given Qg; = 180-0.75P;
Qst=-30+0.3Pw1 ,Po=220
Then find the equilibrium price. Obtain the time path and interpret it.



19. Solve the following Linear programming problem with the help of simplex
method.

Maximize: Z=6X;+7X;

Subjectto  2X;+3X;<=12

2X1+ X, <=8
X1, X2>=0

20. If the Utility function is U=q; g, and 3q;+40,=100, Then calculate the
optimum quantity of gi and g.

21.
(0.2 0.3 0.2] 20 ]
rfarA=|240102 qarc=]|10 12then &
0.1 0.3 0.2 12 |

Calculate 1] quantity of X3, X, and X3

2] Inter industry demand matrix
22. What is the Cobweb model? Explain different conditions of equilibrium in a
Cobweb model.
23. An entrepreneur’s short run total cost function is C= q*-10g%+179+66.
Determine the output level at which he maximizes profit if P=5. compute the
output elasticity of cost at this output.
24. If U= X12X,2 and Y= Py X1+ P2Xj, then find ordinary demand function and
Compensated demand function For X; and X,. Also drive second order condition.
25. Explain the condition of well-behaved production function.

dd ara
13. U = q12.q23 & =0 § IUTIRTT e [T T 3¥ay o Wi &1 ge
3R FoIC TM4T q1 + 4q2 = 10 B =TT H|
14. fAgfaRad Tadidt &1 g &9
Z=2x1 + 5x2 + 7x3 DI AfUHTH B

3x1 + 2x2 + 4x3 <= 100 P AJHH
X1 +4x2 + 2x3 <=100
X1 + X2 + 3x3 <= 100



3R TR 1, TR 2, T 3> = 100
15.FgfaRad 9d & g B

16.3R (1-A) -1 T2 fear mar @
1.17 0.01 0.06 0.28]

0.06 1.02 006 0.02
0.16 023 [14 0.10
(031 006 029 133

= —

7
10

5

ifaw AT -20— R IMEAREIRIREAIS 1

d=

17.3711 & oo # 3Ye 3m3eye fawavur & Hed & aHe|

18.511S 1T H o UCdh Dl GHAST|

19. §¢ Leontief AIST o SURHAT HX |

20. a1 STa=aarsit &1 guiF B |

21.HF ST MSHH B Q = A LaKb & TeH H Iollcd IdTeH Had

o T[UT o RSAT BT |




22.Ueh Rl ST TG function & = b & ol UfARITIH Bt G
|

23. P19 ST TG YARIE Q = LaKb ¥ JdH Y TN o= |
24 77 foelt STHIET BT ST &1 U = 48L + LY-L2 8, I Eiol
4) H9 P YL ab

5) YH 3MTYfd ash B} A=

6) %H 3MYfc Ish P! @ |

14, ST B B /A U U = q1q2 3R Fole ST 100- 2q1-5¢2 = 0§ 9
Tl

3) ql 3R q2 & 3PaH A

4) 1 1 31 1 HrAid IUTIRTCT|
15.9=T% (@ 1, F2) AR MBI HH S TIH G =plql + P2q2 H &I
W] GHIHRUT faT U IUAAr o= &l S15d PR |

16. T WH D1 AT AT I HH B B! Ul B! UTd B FoTHT SdTe B
3R ANTA UM Q = f (L, K) 3R C = LPL + KPK & | g% o H &1 f&Yfd ot +ft
S B

17. faU TTT TITE 39 HIRE HaRM T TAIRT I HIRE HaRM &l fSTAaR B
C=0.0493- 0.9 q2 + (11-k) q + 5 k2 TGl q = 3M3TYC 3R k = NI HT AHHR

18. fAU T Qdt = 180-0.75Pt
Qst = -30 + 0.3 Pt-1, PO = 220

fOh~ AMTaRT BT HeW J1d DI | THT AR &1 UTd B3 3R ITD | RS 3 |
19. ey fafd &t Agq I FAufaRad difFaR arnfii gawar &1 g = &L
BT B Z = 6X1 + 7X2

2X1 +3X2 <= 12 & HH
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Environmental Economics

Very Short Questions

Q1.What is environmental economics?

Q2.What are negative externalities?

Q3.What are positive externalities?

Q4.What is Pareto optimality?

Q5.What is welfare economics?

Q6.Define Climate Change.

Q7.What is Agenda 21?

Q8.What is Sustainable Development?

Q9.What is Global Warming?

Q10.Where was the first Earth Summit held and when?
Q11.What is Emissions trading?

Q12.What is the shape of the Environmental Kuznets Curve?
Q13.What do you understand by Market Failure?
Q14.What are trans-boundary environmental problems?
Q15.What is UNFCCC?

Q16.What do you understand by environment valuation?
Q17.What is Hedonic Pricing method?

Q18.What is Travel-Cost Method?

Q19.What is Contingent Valuation Method?

Q20.Who developed the Coase Theorem?

Q21.State two efforts taken by the UN to combat environmental degradation.
Q22.What is carbon sink?



Q23.What is the relation between trade and environment?
Q24.When was the Brundtland Report published?
Q25.What is Kyoto Protocol?

Short Questions

Q1.Explain the Travel Cost Method of environment valuation.
Q2.Explain the Contingent valuation Method of environment valuation.
Q3.Explain the Coase theorem.

Q4.Explain the Environment Kuznets Curve and also write about its empirical
findings.

Q5.Explain the Hedonic Pricing Method of environment valuation.
Q6.Explain any four trans-boundary problems.

Q7.What is Greenhouse effect and how does it lead to global warming?
Q8.Explain the concept of Sustainable Development?

Q9.Briefly discuss the OECD Environmental Committee Report.
Q10.Discuss any two Pareto-optimality conditions.

Q11.What are the components of ecosystem?

Q12.What are the effects of Air pollution?

Q13.What are the effects of Water pollution?

Q14.Explain the concept of Climate Change.

Q15.What is environmental economics?

Q16.What are positive externalities. Explain with examples.
Q17.What are negative externalities. Explain with examples.
Q18.Write a short note on Kyoto Protocol.

Q19.Write a short note on Earth Summit 1992.

Q20.Write a short note on Earth Summit 2002.

Q21.Write a short note on Paris Climate Agreement.

Q22.Write a short note on WTO and Environment.



Q23.Explain any two measures/indicators of Sustainable Development.
Q24.What are the Sustainable Development Goals?

Q25.Write a short note on Environmental Governance in India.

Long Questions

Q1.What is environmental economics and how is it different from traditional
economics?

Q2.How does the Coase theorem explain the problem of property rights?
Q3.How do externalities lead to market failure?

Q4.What is Sustainable Development? Explain the concept and the goals.
Q5.Explain the Environment Kuznets Curve.

Q6.What is Pareto Optimality and what are its three conditions?
Q7.What were the outcomes of the Stockholm Conference?

Q8.Explain in detail the Paris Climate Agreement.

Q9.What were the outcomes of the first Earth Summit.

Q10.Explain the Hedonic Pricing method of environment valuation.
Q11.Explain the Travel Cost Method of environment valuation.
Q12.Explain the Contingent valuation method of environment valuation.
Q13.Explain the efforts taken by UN to combat environment degradation.
Q14.What is the status of Environmental governance in India?
Q15.Explain the concept of Agenda 21.

Q16.What is the Convention on Biodiversity.

Q17.Explain the relation between Trade and Environment.

Q18.What is the nature and scope of Environmental Economics?

Q19.Explain the concept of Climate change. Write the efforts being taken
globally to combat it.

Q20.Explain emissions trading with reference to Kyoto protocol.

Q21.Write about the consequences of Global Warming.



Q22.What are transboundary problems. Explain with examples.

Q23.Explain the relation between WTO and environment.

Q24.What is OECD. Write about the OECD Environmental Committee Report.
Q25.What is Welfare Economics?
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International Trade and development

Short answers type
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Define economic growth.
Define Gain from Trade
Give four features of International trade.
Give measures of development.
Mint parity
PPP
Give four features of International trade
Define International trade theory of Haberler’s.
Balance of payment

. Define international Trade.

. Adam smith concept on trade

. What do you mean by International Trade.
. Free Trade and Protection.

. IMF

. ADB

. WTOs

. What do you understand by free Trade

. What do you mean by balance of payment
. Define Fiscal Policy

Define International trade

. Define Direct tax

. Define InDirect tax

. Define Exchange Rate

. Give to gains from International trade

. Give Objective of Fiscal policy

. Discuss the economic effects of public debt

. Difference between incidence and shifting of taxation
. Write the methods or tools of production

. Define protection

. What do you mean by balanced growth

. Explain the meaning of inequality of opportunities

. Difference between tax and fees

. Write the name of principle of taxation by Adam Smith
. explain the meaning of factor intensity

. What is the difference between economic growth and economic development
. Write the main assumption of solow model

. Difference between public debt and taxation

. What do you mean by JS mill theory



10.

11.

12.

13.

14.

15.

16.

i R/

18.

39. Write any two assumptions of haberler opportunity cost theory
40. What is the meaning of economic development

41. What do you mean by disguised unemployment

42. Write any two assumptions of harrod domar model

43. What do you mean by impact of taxes

44. Write any two source of public revenue

45. Draw diagram of laffer curve

46. Write any two characteristics of direct tax system

47. Write mean of objectives of WTO

438. Explain the difference between public good and private goods
49. Explain the sustainable development

50. Write main characteristics of good tax system
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Long answers types

Define Lewis theory of unlimited supply of labour.
Define International trade theory of Haberler’s.
Critically examine the Ricardian comparative advantages theory of International trade. To what
extent its empirical evidences justify its success?
What do you understand by Reciprocal Demand theory? How it is useful in International Trade.
Write short note on Leontief Paradox.
Write short note on Rybeznski Theorem.
Describe the current trade problems of developing countries. What measures have been taken to
meet these problems?
What do you mean by balance of payment? Give their adjustment mechanism also.
Define IMF and give its importance in present scenario.

What do you mean by ADB. Give its importance for developed countries.
What do you understand by free Trade and how it is differ from protection.
What do you understand by Adam smith theory of trade? Give in detail.
Define Nature and Scope of Public Finance.
Discuss Main problem of Optimal Budget.
What do you understand by Fiscal Policy. Give its Objectives.
What do you mean by Public Debt. Give it’s Objectives and relevance.

Define Factor Affecting Economic Growth.
Define Lewis theory of unlimited supply of labour.
Discuss Linear Programming Technique in Planning in Detail.
Define Harrod — Domar model in detail and also give knife edge problem.
Explain the methods of correcting an AdverseBOP.
Explain Harrod -Domar Model.
Discuss the effects of public expenditure on production and distribution.
Explain the theory of Maximum Social Advantage.
Discuss the measurement of economic development.
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